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The emphasis in memory level teaching 1s on which of the following?

(a) Orgamisation of thoughts and 1deas
(b) Seeing of relationships among facts
(c) Systematic presentations to enable gquick reproduction

(d) Critical thinking
(e) Mastery of correct sequencing of facts

(f) Segregating one feature from another

Choose the answer from the following options :

(1) (a). (b) and (c) (2) (a). (c) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (f)
Options:

61547527101, 1
61547527102 2
E1547537103. 3
E1547537104. 4

Question Number : 1 Question Id : 6154759515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547537102. 2
61547537103, 3
51547537104, 4

Question Number : 2 Question Id : 6154759516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Below are given two sets in which set I specifies the four behaviour modification techmques
while set II indicates their exemplification. Match the two sets:

Set 1 Set 11
(Behaviour modification (Example)
technmiques)
(a) Positive reinforcement (11 Withdrawal of a pleasant stimulus or application

of an aversive stimulus to stop the behaviour

(b) Negative reinforcement (1) Painful or aversive stimulus 1s presented to stop
the occurrence of behaviour

(c) Punishment (1) The behaviour increases in frequency after the
removal of the stimulus

(d) Extinection (iv) The behaviour increases in frequency after the
presentation of a stimulus

Choose your answer from the following options:

(1)  (a)-). (b)-(). (e)-(11). (d)-(1v)
(2)  (2)-(), (b)-Q). (c)-(1), (d)-Gv)
(3) (a)-(1v ), (b)-(u11). (c)-(u). (d)-(1)
(4) (a)-(11), (b)-(1). (¢)-(11), (d)-(1v)
Options:

615475271051

61547537106, 2

61547537107, 3

61547537108, 4
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Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1). (b)-(11). (¢)-(111), (d)-(1v)
(2) (a)-(1). (b)-(1). ()-(111), (d)-(1v)
(3)  (@-v). (b)-({ii). (c)-(i). (d)-(1)
@) (@-). (b)-@). (©)-(1), (d)-v)

Options:

615475371051

61547537106, 2

61547527107 2

61547527108, 4

Question Number : 3 Question Id : 6154759517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The most characterstic feature of an adolescent learner which determines his/her social and
moral development 1s the

(1) Tendency to be away from parents
(2) Concern for hero worshipping for emulating values and standards
(3) Mixing up with peers in the neighbourhood
(4) Identity crisis
Options:

E1547537105. 1
61547537110, 2
61547537111 3
E154753711Z2. 4
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Options:

61547537109, 1
61547537110 2
1547527111, 2
61547537112, 4

Question Number : 4 Question Id : 6154759518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following teaching method (s) 1s/are contributive to direct learning?

(a) Team teaching and lecturing
(b) Simulation and role playing
(c) Lecture with or without use of audio-visuals

(d) Participation in workshop and assignments
(e) MOOCs and heuristics
() Interactive presentations

Choose vour answer from the following options:

(1) (b). (d) and (e) (2) (a), (b) and (c)
(3) (). (d) and (D) (4) (d). (e) and (D
Options:

5154752371121
61547537114, 2
61547537115 3
E1547537116. 4
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6154752371121
E1547537114. 2
51547537115 3
61547537116, 4
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Correct Marks: 2 Wrong Marks: O

Which of the following 1s an example of maximum performance test?

(1) Projective personality test (2) Interest inventory
(3) Aptitude test (4) Attitude scales
Options:

615475237117, 1
E15475371158. 2
E15475371143. 3
B1547537120. 4

Question Number : 5 Question Id : 6154759519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475237117, 1
E1547537118. 2
51547537119, 3
B1547537120. 4

Question Number : 6 Question Id : 6154759520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A college teacher does research with a view to depict the reality situations relating to home
conditions of students and hostels provided for. Which of the following research format will
be helpful to do so?

(1) Experimental research (2) Descriptive research
(3) Participant observation based research (4) Ethnographic research
Options:
E1547537121. 1
61547537122 2
61547537123 2
61547537124 4

Question Number : 6 Question Id : 6154759520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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615475371211
E1547537122 2
E1547537123. 3
BE1547537124. 4

Question Number : 7 Question Id : 6154759521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following steps of research., the scope for creativity and imagination 1s
utmost?

(1) Identifying the research problem and defining 1t
(2) Figuring out the related studies and the techniques used by other researchers
(3) Identifying vamables and hypothesizing
(4) Data analyvsis and presentation of results
Options:

615475371251
61547537126 2
E1547537127. 3
E1547537128. 4
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g = FFATead e § Gl T3 Fed G gaE A B A7

(1) =g gadi aue #i T59H 1 U9 39 g w6

(2)  HEiad AT 991 F AT ZET WET qoATR o AR
(3) =TT 1 TEEE O AT GRS S A

(4)  waT faveror FUT TROTET # g e

Options:

615475371251
61547537126 2
61547537127, 2
61547537128, 4

Question Number : 8 Question Id : 6154759522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while finally reporting the research results in the form of a thesis
acknowledges the support of his/her supervisor in the preface. This will be treated as a

(1) Sheer formality (2) Needed formalhity
(3) Superfluous act (4) Part of ethicality
Options:

6154753712591
61547537130, 2
E1547537121. 3
E1547537132. 4

Question Number : 8 Question Id : 6154759522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547537129.1
E1547537120. 2
61547537121, 3
61547537132 4
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In case the population of research 1s heterogeneous in nature which of the following sampling
techniques will ensure optimum representativeness of sample units?

(1) Simple random sampling (2) Stratified random sampling
(3) Cluster samphng (4) Systematic sampling
Options:

615475271321
E1547537134. 2
E1547537135. 3
61547537136, 4

Question Number : 9 Question Id : 6154759523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547537133. 1
E1547537124. 2
E1547537135. 3
BE1547537136. 4

Question Number : 10 Question Id : 6154759524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statistical techmique will be appropriate for data analysis when the
observations are available in the form of frequencies?

(1) Parametric 't' test (2) Non-parametric 'u' test
(3) Non-parametric 'chi-square' test (4) Parametric correlated 't' test
Options:

BE1547537137. 1
61547537138, 2
61547537139 3
61547527140, 4

Question Number : 10 Question Id : 6154759524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475371371
61547537138, 2
E1547537139. 3
E1547537140. 4

Question Number : 11 Question Id : 6154759525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Classroom communication 1s

(a) Like a computer - program
(b) Dictatorial

(c) Purposeful

(d) Pragmatic

Choose the correct option from those given below

(1) (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (c)and (d)
Options:

BE1547537141. 1
61547537142 2
61547537143 3
E1547537144. 4

Question Number : 11 Question Id : 6154759525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547537141. 1
61547537142 2
61547537143 3
61547537144, 4

Question Number : 12 Question Id : 6154759526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Swapping of encoder -decoder roles 1n communication happens due to

(1) Cognitive disruptions (2) Semantic noise
(3) Feedback analysis (4) Weak channelisation
Options:

E1547537145. 1
E154753714E. 2
B1547537147. 3
61547537148, 4

Question Number : 12 Question Id : 6154759526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547537145. 1
6154753714E. 2
E1547537147. 3
615475271458, 4

Question Number : 13 Question Id : 6154759527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Classroom Interactions are influenced largely by

(1) Students’ commitment

(2) Teacher centric environment
(3) Organisational oversight

(4) Unsolicited interventions
Options:

61547537149 1

1547537150 2

61547527151, =
E1547537152. 4



Question Number : 13 Question Id : 6154759527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547537149. 1
E1547527150. 2
61547537151,
61547537152 4

Question Number : 14 Question Id : 6154759528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When a large number of students with different performance levels are there 1n the class. for

uniform imparting of educative interactions. a teacher should opt for a communication which

1s

(1) Top-down and hinear
(2) Technology - enabled
(3) Individual - centric

(4) Self - projected
Options:

15475371531
1547537154 2
1547537155 2
1547537156 4

Question Number : 14 Question Id : 6154759528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7 TRl e ° fafa= Tee-w 9 9T 99 @ 9 7, a1 e = merers A i =g e

(1) S=9-F= it @
(2) TS HEEE

(3)  =afFa Hfza
(4 EE-uETd
Options:

615475371531



E1547537154. 2
61547537155 3
61547537156, 4

Question Number : 15 Question Id : 6154759529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements one 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R)

Assertion (A):  Classroom communication 1s pre-decided by social and institutional
demands.
Reasons (R) : Positive educative actions should guide learners to acquire knowledge of

soclal significance

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 1s true
Options:
15475371571
E1547537 158 2

E1547537159. 3
B1547537160. 4

Question Number : 15 Question Id : 6154759529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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61547537157, 1
61547537158 2
1547537159 2
1547527160 4



Question Number : 16 Question Id : 6154759530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The length of the side of a square (5.0 em x 5.0 em) 1s 1ncreased by 1%. By what percentage
(%). the area of the square increases?

(1) 1% 2) 2%
(3) 2.5 % (4) 4%
Options:

E1547537161. 1
61547537162 2
E1547537163. 3
B1547537164. 4

Question Number : 16 Question Id : 6154759530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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(1) 1% 2) 2%
(3) 2.5 % 4 4%
Options:

BE1547537161. 1
61547537162 2
61547537163, 3
61547527164, 4
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Correct Marks: 2 Wrong Marks: 0

Identify the term X' in the following series

3. 2, 11, 14, 27, 34, 51. X

(1) 62 (2) 69
(3) 60 4) 71
Options:

E1547537165. 1
B154753716E6. 2
B1547537167. 3
61547537168, 4

Question Number : 17 Question Id : 6154759531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. 2,11, 14, 27, 34, 51. X

(1) 62 (2) 69
(3) 60 4 71
Options:

E1547537165. 1
61547537166, 2
G1547537167. 3
E1547537168. 4

Question Number : 18 Question Id : 6154759532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A person buys 3 1items of Rs. 1500 each and 2 items of Rs. 1800 each from a shopping mall.
On the total bill a discount of 10% 1s given. What 1s the average cost of the 1tems?

(1) 1650 (2) 1458
(3) 1658 (4) 1550
Options:

615475371691
E1547537170. 2
E1547537171. 3
B1547537172. 4

Question Number : 18 Question Id : 6154759532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
we =i | A0 2 J A1 T wiE TaEE uern o 1500 . 3R 31 e m@id | e fi
M 1800 %. 2| & foe W =8 10 wiawma i g2 < 72 | TG w1 o0Ed god e 2

(1) 1650 (2) 1458
(3) 1658 (4) 1550
Options:

E154753716%5. 1
615475371700 2
61547537171, 3
E1547537172. 4

Question Number : 19 Question Id : 6154759533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A 50 vear old man has a son whose age 1s 2/5 of his age. After how many years. the ratio of
the age of the man to his son will be 5/37

(1) 10 vears (2) 15 years
(3) 20 years (4) 25 years
Options:

BE1547537173. 1
61547537174 2
61547537175 3
61547527176, 4
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(1) 10 =9 (2) 15=m
(3) 2099 (4) 2594
Options:

BE1547537173. 1
61547537174 2
61547537175 3
E1547537176. 4
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The smallest integer greater than 1 which 1s simultaneously a sguare and a cube of certain
Integers 1s

(1) 8 2y 9
(3) 36 (4) 64
Options:

E1547537177. 1
E1547537178. 2
615475371759 3
61547537180, 4
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Options:

615475371771
61547537178 2
15475327179 2
61547537180, 4

Question Number : 21 Question Id : 6154759535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements and choose the right option

(a) Middle term should be distributed 1n atleast one premise
(b) Middle term should be present in the conclusion
(c) Both premises can be particular in a valid argument

(d) Both premises can be negative 1n a valid argument

(1) (c) and (d) (2) Only (c)

(3) Only (a) (4) (b) and (c)
Options:

615475237181, 1
E1547537182. 2
E1547537183. 3
61547537184, 4
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E1547537181. 1
E1547537182. 2
E1547537183. 3
B1547537184. 4
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Which of the following 1s true with reference to anupalabdhi as a means of knowledge?

(1) 1 do not cognize the pot on the table, therefore it 15 absent there
(2) 1 directlv perceive the absence of pot on the table
(3) 1 infer the absence of pot on the table since 1 do not find 1t to be there
(4) 1 know the absence of the pot on the table because 1 know 1ts similarity with other
absences
Options:

E1547537185. 1
61547537186, 2
61547537187, 3
61547537188, 4

Question Number : 22 Question Id : 6154759536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475371851
E15475327186. 2
61547537187, 5
61547537188, 4

Question Number : 23 Question Id : 6154759537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"If 1t rains. then the drought will end. The drought has ended. Therefore. it rained”. Which
kind of fallacy does this commit?

(1) Deductive fallacy (2) Inductive fallacy
(3) Abductive fallacy (4) Informal fallacy
Options:

615475271891
61547527130, 2
E15475371391. 3
BE15475371392. 4

Question Number : 23 Question Id : 6154759537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TeaTeass searam (2)  SATTHATHS FoaTaTH
(3)  ITTHATH® ecdivd (4) FEMEE FearaE
Options:

E1547537189. 1
615475371390, 2
615475371391, 3
E1547537139%2. 4

Question Number : 24 Question Id : 6154759538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s the characterstic feature of an argument?

(1) It 1s either valid or invalid (2) It 1is neither valid nor invalid
(3) It 1s either true or false (4) It 1s neither true nor false
Options:

E15475371593. 1
E15475371394. 2
61547537185 3
515475371396, 4

Question Number : 24 Question Id : 6154759538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475371931
615475371394, 2
61547537135 3
E15475371396. 4

Question Number : 25 Question Id : 6154759539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"In this hospital. some nurses don't wear white dress. some doctors have private practice and
medicines prescribed are of high cost. Therefore, treatment in this hospital 1s of poor
quality”. What fallacy does this argument make?

(1) Fallacy of composition (2) Shppery slope
(3) Fallacy of accident (4) Fallacy of division

Options:



BE1547537197. 1
615475371388, 2
61547537195, 3
E1547537200. 4

Question Number : 25 Question Id : 6154759539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) VI —E'ET"I (4) HE-a
Options:

BE1547537197. 1
615475371398, 2
61547537199 3
61547537200, 4

Sub-Section Number: 2
Sub-Section I1d: 615475412
Question Shuffling Allowed : Yes

Question Id : 6154759540 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension

Consider the following table that shows the amount of exports (in crore %) from three
different companies A. B. and C over the years 2012-2018. Based on the data in the table,
answer the questions 26-30:

Year-wise amount of Exports from companies

Amount of exports (In cror. Rs.)
Year
A B G
2012 40 90 70
2013 70 50 100
2014 50 70 130
2015 80 70 100
2016 110 90 70
2017 60 110 90
2018 130 150 110
Sub questions

Question Number : 26 Question Id : 6154759541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Average annual amount of exports during the given period for company B 1s approximately
what percent (%) of the average annual amount of exports for company C?

(1) 89.64% (2) 91.21%
(3)  94.03% (4) 93.33%
Options:

B1547537201. 1
B1547537202. 2
61547537203, 3
615475237204, 4

Question Number : 27 Question Id : 6154759542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In how many of the given years. were the exports from company A more than its average

annual exports over the given yvears?

(1) 2 B 3
(3) 4 4 b
Options:

E1547537205. 1
B1547537206. 2
B1547537207. 3
61547537208, 4

Question Number : 28 Question Id : 6154759543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What was the differene between the average exports of three companies 1n 2017 and the

average exports of three companies 1n 20127

(1) % 15.33 crores (2) % 18.67 crores
(3) T 25 crores (4) T 20 crores
Options:

E1547537208. 1
E1547537210. 2
61547537211, 3
B154753721%. 4

Question Number : 29 Question Id : 6154759544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which yvear. the absolute difference between the exports from companies A and B was the

minimum?

(1) 2013 (2) 2014
(3) 2015 4 2016
Options:

E1547537213. 1
E1547537214. 2
61547537215 3
G1547537216. 4

Question Number : 30 Question Id : 6154759545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For which of the following pairs of years. the total exports from the three compames put
together are equal?

(1) 2014 and 2017 (2) 2015 and 2017
(3) 2016 and 2017 (4) 2014 and 2015
Options:

E1547537217. 1
E1547537218. 2
B1547537215. 3
G1547537220. 4

Question Id : 6154759540 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label @ Comprehension

fre=fertaa arfoft w fomm =+ e Gy sl v, o s o g ad 2012-2018 = i FFo o
fata =i ofer (s 5. %) fome 12 2 | @l @ 50 10 A7 % SER W, 999 26 — 30 I F
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a9

o

T = ot
2012 40 90 70
2013 70 50 100
2014 a0 70 130
2015 80 70 100
2016 110 a0 70
2017 60 110 90
2018 130 150 110

Sub questions



Question Number : 26 Question Id : 6154759541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 89.64% (2) 91.21%
(3) 94.03% (4) 93.33%
Options:

61547537201, 1
61547537202, 2
E1547537203. 3
B1547537204. 4

Question Number : 27 Question Id : 6154759542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T et o sataE w1 27

(1) 2 2) 3
(3) 4 (4 5
Options:

E1547537205. 1
61547537206, 2
G1547537207. 3
61547537208, 4

Question Number : 28 Question Id : 6154759543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T9 2017 | AF1 FAEE F HET =G v 59 2012 9 969 FOEE 6 9 e 0 o= A e v

(1) ¥ 15.33 %S (2) % 18.67 =S
(3) ¥ 95 T3 4) T 203
Options:

615475372051
E1547537210. 2
61547537211, 3
BE1547537212. 4

Question Number : 29 Question Id : 6154759544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

615475272121
61547537214, 2
E1547537215. 3
B1547537216. 4

Question Number : 30 Question Id : 6154759545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fttEa 67 39 99 & e o= FeE = T FEE T6E w58

(1) 2014 3® 2017 (2) 2015 =k 2017
(3) 2016 #iT 2017 (4) 2014 = 2015
Options:

B1547537217. 1
61547537218, 2
61547537219 3
E1547537220. 4

Sub-Section Number: 3
Sub-Section 1d: 615475413
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154759546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s/are major 1ssues arising out of the growing reliance on information
technology?

(a) Profitability
(b) Security threats

(c) Privacy concerns

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only
(4) (a). (b) and (c)

Options:
615475372211



B1547537222. 2
B1547537223. 3
B1547537224. 4

Question Number : 31 Question Id : 6154759546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) === (a) 31 (b) (2) e (a) T (c)
(3) = (b) 3T (c) 4) (a). (b) ¥R (c)
Options:

615475372211
E1547537222. 2
E1547537222. 3
B1547537224. 4

Question Number : 32 Question Id : 6154759547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following communication technologies employ only asynchronous
communication?

(a) Video conferencing
(h) Email
(c) Forums

(d) Instant messaging

Choose the correct option :

(1) (a) and (c) only (2) (b) and (d) only
(3) (b) and (c) only (4) (a) and (d) only
Options:

615475372251
E1547537226. 2
E1547537227. 3
BE1547537228. 4

Question Number : 32 Question Id : 6154759547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 5 (a) 37 (©) (2) A (b) HW (d)
(3)  FaA (b) 3T () (4) =4 (a) 311 (d)
Options:

615475372251
E1547537226. 2
E1547537227. 3
BE1547537228. 4

Question Number : 33 Question Id : 6154759548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements 1s/are correct?

(a) For the sequence of integers represented in binary as 00111, 01001. 01011. P...., the
next integer P would be represented as 01101

(b) A byte 1s a binary number consisting of exactly 8 bits

Choose the correct option:

(1) (a) only

(2)  (b) only

(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
15475372291
E1547537230. 2
E1547537231. 2
61547537232 4

Question Number : 33 Question Id : 6154759548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547537229. 1
BE1547537230. 2
B1547537231. 3
G1547537232. 4

Question Number : 34 Question Id : 6154759549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List-I with List-II in the context of computer networking :

List-I List-IT
(a) VOIP (1)  Makes use of hight pulses to transmit
data
(b) Fibre-optic cable (11) Use of internet to make phone calls
iy WVRL (1) Most appropriate to connect computers

1n a small building

(d) UTP cable (1v) Text used by web browsers to locate a
web addreszs on the Internet

Choose the correct option :

(1) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(3) (a)-(11). (b)-(111), (c)-(1v). (d)-(1)
(4) (a)-(1v), (b)-(111). (e)-(11). (d)-(1)

Options:

61547537233, 1

61547537234, 2

61547537235 3
E1547537Z236. 4

Question Number : 34 Question Id : 6154759549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(11). (b)-(1). (e)-(iv). (d)-(111)
(3) (a)-(11). (b)-(111), (c}-(1v). (d)-(1)
(4) {(a)-(1v). (b)-(1m1). (c)-(11). (d)-(2)

Options:

61547537233, 1

61547537234, 2

E154¥537235. 3
E1547527256. 4

Question Number : 35 Question Id : 6154759550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that includes file formats suitable for distributing sound files across the
Internet.

(1) wmv, mp4, wma, mp3

(2) avi, midi. wav, mp3

(3) avl, mov, wmv, mp3

(4) midi, wav, wma. mp3
Options:

61547537237, 1
E1547537238. 2
E1547537239. 3
B1547537240. 4

Question Number : 35 Question Id : 6154759550 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547537237, 1
61547537238 2
61547537239, 3
61547527240, 4

Question Number : 36 Question Id : 6154759551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biomass fuels have the potential to form a sustainable carbon-neutral energy source because
they
(1) Produce carbon dioxide on combustion as much as they consume when they grow

(2) Produce less amount of carbon dioxide on combustion compared to the amount they
use during their growth

(3) Have carbon content same as fossil fuels
(4) Do not produce hazardous emissions on combustion
Options:

B1547537241. 1
B1547537242 2
61547537243 3
61547527244, 4

Question Number : 36 Question Id : 6154759551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537241 1

61547537242, 2

61547537243, 3

61547537244 4



Question Number : 37 Question Id : 6154759552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Major sources of oxygen demanding waste in fresh water systems are

(a)
(b)
(c)
(d)

(e)

Agreultural run-off
Food processing
Ore mining

Sewage effluent

Landfill sites

Choose the correct option from those given below:

(1)

(3)

Options:

(a). (d) and (e) (2)  (b). (d) and (e)

(a). (b) and (d) (4) (a). (b). (c) and (d)

615475372451
E154753724E. 2
E1547537247. 3
E1547537248. 4

Question Number : 37 Question Id : 6154759552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547537245 1
1547537246 2
E15475327247. 2
61547537248, 4

Question Number : 38 Question Id : 6154759553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a renewable natural resource?

(1) Biological diveristy (2) Tin
(3) Natural zas (4) Salt
Options:

BE15475372459. 1
61547537250, 2
61547537251, 3
61547537252, 4

Question Number : 38 Question Id : 6154759553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  TEEE T (4) TmEm
Options:

61547537249 1
E1547537250. 2
BE1547537251. 3
B1547537252. 4

Question Number : 39 Question Id : 6154759554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following natural hazards has relatively slow onset?

(1) Volcanic eruptions

(2) Droughts

(3) Wild fires

(4) Land and shdes
Options:
15475372521
E1547537254 2

E1547537255. 3
E1547537256. 4

Question Number : 39 Question Id : 6154759554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
61547537253 1
E1547527254 2
E1547Y537255 3
61547537256 4

Question Number : 40 Question Id : 6154759555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyvoto protocol, the parties, in the second commitment period, have to reduce their
greenhouse gas emissions with reference to 1990 levels by atleast

(1) 10%
(2) 12%
(3) 15%
(4) 18%
Options:

B1547537257. 1
61547537258, 2
61547537259, 3
E1547537Z60. 4

Question Number : 40 Question Id : 6154759555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10% (2) 12%
(3) 15% (4) 18%
Options:

B1547537257. 1
61547537258, 2
61547537259, 3
61547537260, 4

Question Number : 41 Question Id : 6154759556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Matech the following study skills with their effective learning techniques:

(a)

(b)

(c)

(d)

Study skills

Elaborative interrogation
Practice testing
Self-Explanation

Interleaved practice

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(111), (c)-(11), (d)-(1)
(a)-(1). (b)-(11). (c)-(xv), (d)-(111)
(a)-(11), (b)-(1v). (c)-(2). (d)-(111)
(a)-(111). (b)-(2). (c)-(11). (d)-(1v)

61547537261, 1
BE1547537262. 2
BE1547537263. 3
B1547537264. 4

(1)
(11)
(111)

(1v)

Learning techniques

Mixing different kinds of problems
together when studying

Explaining what a section of text or an
example problem means to vou

Testing vourself on the materal you
are trying to learn

Answering why a fact 1s true

Question Number : 41 Question Id : 6154759556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



feferiaa s -Five 1 368 Feian o Ais wiEi F wmy gt i

(a)

(b)

(c)

(d)

ST 0T
AEAH frEm

Rt mw it i e wr T =

(1)
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Options:

(a)-(1v). (b)-(ii1). (c)-(11), (d)-(1)
(a)-(1). (b)-(11). (¢)-(v). (d)-(111)
(a)-(11). (b)-(v), (e)-(1). (d)-(111)
(a)-(11). (b)-(1). (¢)-(11), (d)-(1v)

61547537261, 1
B1547537262. 2
E1547537Z63. 3
61547537264, 4

(1)

(11)

(111)

(1v)
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Question Number : 42 Question Id : 6154759557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following represents the correct order of sequence for reading skills 1n the
context of research?

(1)
(2)
(3)
(4)

Options:

Read. question, recall, review, survey
Questions, survey. read. recall. review
Recall, review, survey. question, read

Survey, question. read. recall. review

61547537265, 1
E1547537 266, 2
B1547537267. 3
B1547537268. 4

Question Number : 42 Question Id : 6154759557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 939, W99, T, HHiE, A8
(2)  UIA, WA, U3, S0, HHIET
(3) T, THiET, HAW, 9, T

(4)  HET, I, T3, T, gHIET
Options:

615475372651

61547537266, 2

61547537267, 3

E1547537268. 4

Question Number : 43 Question Id : 6154759558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In order to meet the demands of market economy and produce competent graduates, who can
compete with their counterparts in international markets, the first and foremost change that
needs to be introduced 1n the prevailing system of Indian higher education 1s related to:

(1) Admission process
(2) Curriculum
(3) Educational technology

(4) Appointment of teachers
Options:
615475377269 1
61547537270 2
1547537271 3
Bl54drE37272 4

Question Number : 43 Question Id : 6154759558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wew "
(2) RIERFE
(3)  viferF TR

(4)  Toerwt 1 A

Options:

£1547537269. 1
E1E547537270. 2
61547537271, 5



B1547537272. 4

Question Number : 44 Question Id : 6154759559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s the flagship scheme of the Mimstry of Skill Development and
Entrepreneurship implemented by National Skills Development Corporation?

(1) Rohbotics India

(2) Artificial Intellizence @ schools

(3) Make in India

(4) Pradhan Mantr Kaushal Vikas Yojna

Options:

615475372731
61547537274 2
E1547537275. 2
1547537276, 4

Question Number : 44 Question Id : 6154759559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Terie sfe
(2)  RIFES 2o @ T

(3)  ®% 3 sz

(4) g T Fiere R A
Options:
615475372731
61547537274 2
E1547537275. 2
1547537276, 4

Question Number : 45 Question Id : 6154759560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the age of four Vedas. students were admitted to the Vedic schools after performance of
which ceremony. among the following :

(1) Upanavana ceremony
(2) Utsarjana ceremony
(3) Satapatha brahmana

(4) Dhanurvidya ceremony

Options:



B1547537277. 1
B1547537278. 2
B15475372758. 3
E1547537280. 4

Question Number : 45 Question Id : 6154759560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475372771
E1S547537278. 2

E1547537279. 3
E1547537280. 4

Sub-Section Number: 4
Sub-Section |d: 615475414
Question Shuffling Allowed : Yes

Question Id : 6154759561 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



Read the passage and answer questions from 46 to 50.

Anvone who has ever been In a classroom where the teacher's presentation was lifeless.
static, and without vocal vamety can appreciate the commonsense value of the affective side
of teaching. However, unhike the other behaviours, affect cannot be captured in transcripts of
teaching or by classroom interaction instruments. Narrowly focussed research instruments
often miss a teacher's affective nature. which emerges from a more holistic view of the
classroom. This affective nature 1s the foundation on wheih one can build a warm and
nurturing relationship with his or her learness. What the instruments miss, the students see
clearly. Students are good perceivers of the emotions and Iintentions underlying a teacher's
actions. and they often respond accordingly. A teacher who 1s excited about the subject being
taught and shows 1t by facial expressions. voice inflection, gesture and movement-thus
communicating respect and caring for the learner - 1s more hikely to hold the attention of
students and motivate them to higher levels of achievement than one who does not exhibit
these behaviours. Students take their cues from these affective signs and lower or heighten
their engagement with the lesson accordingly. Enthusiasm 1s an important aspect of a
teacher's affect. Enthusiasm 1s the teacher's vigour, power. involvement. excitement, and
interest during a classroom presentation and willingness to share this emotion with learners.
who will want to respond 1n kind.

Sub questions

Question Number : 46 Question Id : 6154759562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When does one feel the need for the value of affective aspects of teaching?

(1) When a teacher has a vocal variety

(2) When a teacher makes a dvnamic presentation

(3) When a teacher's presentation 1s monotonous

(4) When a teacher's lecture 1s beyond expectation
Options:

BE1547537281. 1
B1547537282. 2
61547537283, 3
E1547537284. 4

Question Number : 47 Question Id : 6154759563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The affective nature of teaching 1s reflected 1n

(1) Deeper understanding of the classroom environment

(2) Other behaviours of the teacher

(3) The recording of classroom interaction
(4) The Iimited reliance on research instruments
Options:

61547537285, 1
E1547537286. 2
E1547537287. 3
E1547537288. 4

Question Number : 48 Question Id : 6154759564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Students respect a teacher who

(1) 1s emotional

(2) displays concern for students

(3) has a powerful voice

(4) has narcissitic attitude
Options:

61547537289, 1
E1547537230. 2
E1547537231. 3
BE15475372392. 4

Question Number : 49 Question Id : 6154759565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The affective signs will provide students

(1) The basis for understanding contents

(2) Exhibitional behaviours

(3) Cues to hold attention

(4) A basis which triggers further enthusiasm

Options:

615475372493 1
61547537294 2
61547537295
61547537296 4

Question Number : 50 Question Id : 6154759566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The passage focusses attention on

(1) Lifeless classroom presentation

(2) Affective factors of teaching

(3) Students as emotional learners

(4) Measuring teacher's affective nature
Options:

B1547537297. 1
615475372388, 2
E154753723949. 3
61547527300, 4

Question Id : 6154759561 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) FE SATF | aasE dfaes w7

(2) T ASAF °H G T 2

(3)  wE SASATTF = WEd AR 7

(4) =@ FEAUF N ANSAH IEHE F AR A
Options:

615475372811

E1547E27282 2

61547537283, 3

61547527284, 4

Question Number : 47 Question Id : 6154759563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) =& F& F T F T ST o
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(3) T o7 T =it foriten
(4) Y \TEAT W EEE =Y § AT w6

Options:

61547537285, 1
1547537286 2
E1547537287. 2
61547537288, 4

Question Number : 48 Question Id : 6154759564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faenefi, vg eI w1 TE 29 B, A
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Options:

61547537289, 1
E1547537230. 2
E15475372391. 3
B1547537252. 4

Question Number : 49 Question Id : 6154759565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475372392 1
E15475372394. 2
B1547537235. 3
B1547537236. 4

Question Number : 50 Question Id : 6154759566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SR H R A T AT i T 2

(1) e =emma weid (2) T9180 = STETHE FE
(3)  HITEHF ATEEFAIA F B9 H = (4) SASATF I GETCHF THT A
Options:

B1547537297. 1
615475372388, 2
61547537299, 3
E1547537300. 4

PART II Yoga

Section Id : 615475128

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475415
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the purpose of Samkhya Shastra?
(1) Klesha Nivaranam (2) Dukha Nivaranam

(3) Avidya Nivaranam (4) Samsar Nivaranam

Options:



E1547537201. 1
B15475372302. 2
61547537203, 3
61547537304, 4

Question Number : 51 Question Id : 6154759567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =cl9 M (2) =¥ HaH
(3)  FHE HaIH (4) TR FErm

Options:

61547537201, 1
61547537302 2
615475373203 2
61547537304 4

Question Number : 52 Question Id : 6154759568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the meaning of the word yoga in the First sutra of Patanjala Yoga Sutra according
to Vyas Bhashya?

(1) Jivatma-Parmatma Yoga (2) Karmashu Kaushalam
(3) Samadhi (4) Moksha
Options:

E1547537305. 1
E1547537306. 2
E15475372307. 3
B1547537208. 4

Question Number : 52 Question Id : 6154759568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  SAETCHT-TEHTHT T (2) U FEH
(3)  GHIY (4) Hre

Options:

61547537305, 1
61547537306, 2
61547537207, 2
1547527208 4



Question Number : 53 Question Id : 6154759569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

What are the Purushartha Chatushtayas?
Select the correct combination :

(1) Artha, Moksha, Dharma, Samsara
(2) Moksha, Jiva, Karma, Siddhi

(3) Sadhana, Vidya, Samapatti, Abhyas
(4) Dharma, Artha, Kama, Moksha

Options:

61547537309,
1547537210,
E1547537211.
61547537212,

o IR

Question Number : 53 Question Id : 6154759569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qENTY AR 1 & ¢ HWal FHE H fdshed I

(1) Hd, A, gH, GER
(2)  Hig, g, #4, fufz
(3)  TIEAET, fEEn, 9um, Y

(4) g4, 9, +H, Hie
Options:
61547537309, 1
L15475373210. 2
£1547537311. 3
61547537312 4

Question Number : 54 Question Id : 6154759570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the founder of Samkhya Darshan?
(1) Vedvyasa (2) Patanjali

(3) Kapil Muni (4) Atn



Options:

615475372131
615475373214 2
E1547527215 2
61547537216, 4

Question Number : 54 Question Id : 6154759570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =% =94 (2) OdAIA
(3) = qH (4) HE

Options:

615475372131
61547537314 2
61547537315
61547537216 4

Question Number : 55 Question Id : 6154759571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which technique is mention for Brahma Anubhuti in Bhriguvalli according to Taittiriya

Upanishad?

(1) Pranayam (2) Meditation
(3) Tapa (4) Samadhi
Options:

E1547537317. 1
E15475372158. 2
E1547537218. 3
B15475372320. 4

Question Number : 55 Question Id : 6154759571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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o

(1)  Somam (2) &N

(3) @4 (4) Ty

Options:
615475372171



E1547537218. 2
61547537215, 3
B1547537320. 4

Question Number : 56 Question Id : 6154759572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prana is compared from which in Prashn Upanishad?

(1) Aditya (2) Moon (Chandra)
(3) Prithvi (4) Water (Jala)
Options:

61547527321, 1
E1547537322. 2
B1547537323. 3
B1547537324. 4

Question Number : 56 Question Id : 6154759572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Afeeg 9 (2) =24
(3) T H 4) I
Options:

615475373211
E1547537322 2
61547537323 3
E1547537324. 4

Question Number : 57 Question Id : 6154759573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s related to Paravidya in following?

(1) Akshar Jnana (2) Rigveda Jnana
(3) Yajurveda Jnana (4) Nirukta Jnana
Options:

615475373251
61547537326, 2
E1547537327. 3
61547537328, 4



Question Number : 57 Question Id : 6154759573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) &R M (2) ITHE 1AM
(3)  TAE & T (4) To%ad =1 I
Options:

615475373251
61547537326, 2
E1547537327. 3
E1547537328. 4

Question Number : 58 Question Id : 6154759574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Varna, Swara, Matra, Bala, Sama and Sandhi there are essence of Education” (SHIKSHA).
This statement 1s to which upanishad?

(1) Mandukya upanishad

(2) Aitreya upanishad

(3) Tattiriya upanishad

(4) Brihadaaranyak upanishad

Options:

61547537229, 1
61547537330 2
61547537331, 2
61547537332 4

Question Number : 58 Question Id : 6154759574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(1) qUEF 3992

(2) Uaiy 3992

(3) A 3uHYE

(4)  FEERUIAF ITHNE
Options:
615475273291
61547527330, 2
61547537331 3
61547537332 4



Question Number : 59 Question Id : 6154759575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aitraya Upanishad is related to which Veda?

(1) Yajurveda (2) Krishna Yajurveda
(3) Rigveda (4) Samaveda
Options:

B15475372333. 1
61547537224, 2
61547537335 3
615475373356, 4

Question Number : 59 Question Id : 6154759575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  FJ9q 2) F TR
(3)  ®EE (4) AR
Options:

BE15475372333. 1
61547537234, 2
61547537335 3
61547537336, 4

Question Number : 60 Question Id : 6154759576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Practices of “Manonigrah” is described in Srimad Bhagvadgeeta

(1) Abhvasa and Tapa (2) Pranavama and Jnanavoga
(3) Abhyvasa and Vairagva (4) Tapa and Swadhyava
Options:

615475237337, 1
B1547537338. 2
B1547537339. 3
61547537240, 4

Question Number : 60 Question Id : 6154759576 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547537337. 1
E1547537238. 2
61547537335, 3
615475372340, 4

Question Number : 61 Question Id : 6154759577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per voga vashishth study of scriptures. contemplation. association with the enlightened
beings and the knowledge of non-attachment 1s the stage of knowledge (gvan)

(1) genesis of truth (satvapatti)

(2) material consideration (padarthaabhavana)
(3) reflection (vicharna)

(4) non attachment (asamgsaldki)

Options:

615475372411
61547537342 2
61547527342 3
E1547537344. 4

Question Number : 61 Question Id : 6154759577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT AR F AR AT F AT, TG, ToIEAT H S U 90F TE T FE A gEE B
() o=
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(4) e repeli
Options:

615475373411
61547537342 2
61547537343 3
615475273244 4

Question Number : 62 Question Id : 6154759578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



As per voga vashishth which of the following elements are the four gate keepers of salvation?

(1) Seremity (sham). Stamina (Dam), temperance (Titiksha), intense desire for salvation
(2) Stamina (Dam), Serenity (sham), complacence, discretionary instincts

(3) Seremity (sham), thinking (Vicharna) complacence. association of saints

(4) Aszociation of saints, temperance (Titiksha), thinking, complacence

Options:

615475373451
E154752734E. 2
E1547537347. 3
E1547537248. 4

Question Number : 62 Question Id : 6154759578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) =g I w49, fafaan, fEEw, g

Options:

£1547537345. 1
61547537246, 2
61547537247, 5
61547537348 4

Question Number : 63 Question Id : 6154759579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per Trishikhibrahmanopnishad the very feelings of indifference 1s

(1) Meditation (2) Concentration
(3) Asan (4) Pratyahar
Options:

615475373491
61547537350, 2
61547537351, 3
B1547537352. 4

Question Number : 63 Question Id : 6154759579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154753723459. 1
61547537350, 2
61547537351, 3
61547537352, 4

Question Number : 64 Question Id : 6154759580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per vogatattvopmshad what 1s the prescrmbed time line for the adoption (Dharma) of
Panchmahabhoots?

(1) Three ghatikas (2) Two ghatikas
(3) Five ghatikas (4) Four ghatikas
Options:

615475373531
61547537354, 2
61547537355 3
61547537356, 4

Question Number : 64 Question Id : 6154759580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 4 =iew (2) =i aiew

(3) O g (4) =W =i

Options:

615475373531
61547537354 2
1547537355 2
E1547537356 4

Question Number : 65 Question Id : 6154759581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many parts of Hathyoga are mentioned in the yogatattvopanishada?

(1) Four parts (2) Six parts
(3) Seven parts (4) Eight parts



Options:

61547537357, 1
61547537358 2
E15475273259 2
61547537360, 4

Question Number : 65 Question Id : 6154759581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =| =1 @ = &
(3) g # (4) 33 3
Options:

61547537357, 1
61547537358, 2
61547537359, 3
E1547537360. 4

Question Number : 66 Question Id : 6154759582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Naadbindu Upanishad the vogic practice of naadshravan ought to be
undertaken in which asana and mudra?

(1) Bhadrasan and Shambhavi mudra (2) Simhasan and Vaishnavi mudra
(3) Siddhasan and Vaishnavi mudra (4) Padmasana and Shambhavi mudra
Options:

61547537361, 1
E1547537362. 2
E1547537363. 3
E1547537364. 4

Question Number : 66 Question Id : 6154759582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AEfeg IS F HATEW 912 49 F A FFE AWE UF GgT § T 91 ¢

(1) wgre wd e g (2) ToEr va o am
3)  fogmm A e g (4) TETEA UG IEEl g
Options:

BE15475372361. 1
B1547537362. 2
61547537363, 3
61547537364, 4



Question Number : 67 Question Id : 6154759583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per Naadbindu upanishad What 1s the vogie technique to be aware of Omkar?

(1) Pranavam (2) Concentration (Dharna)
(3 Meditation (4) Samadh
Options:

B1547537365. 1
61547537366, 2
E1547537367. 3
61547537368, 4

Question Number : 67 Question Id : 6154759583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  womEm (2) G
3 =N (4) Ty
Options:

E1547537365. 1
E154753736E6. 2
E1547537367. 3
B1547537268. 4

Question Number : 68 Question Id : 6154759584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Maharshi Patanjali which of the following i1s meant for the execution of Bhoga
and Apvarga?

(1) Drashta (2) Drishya
(3) Samyog {(4) Ishwar
Options:

6154753736459, 1
E1547537370. 2
61547527371, 3
E1547537372. 4

Question Number : 68 Question Id : 6154759584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR TAwAl  ITEAR GFT ST 39 H TS FAT A WA B 7

(1) o2l (2) =73

(3)  =Em (4) =TT



Options:

61547537369, 1
1547537370 2
1547537371, 2
61547537372, 4

Question Number : 69 Question Id : 6154759585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With which of the following enlightenment (Jnana) one 18 equipped by exercising restraint in
Sopakrama and Nirupkrama Karma

(1) Previous birth (2) Future and past
(3 Death (4) Others conscience (Parchitta)
Options:

615475373731
61547527374 2
E1547537375. 3
BE1547537376. 4

Question Number : 69 Question Id : 6154759585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ty v v 0 gan w0 9w G s f ooty = 27

(1) PEEL: (2) i g I
(3) 3= (4) OEE
Options:

E1547537373. 1
E1547537374. 2
61547537375 3
G1547537376. 4

Question Number : 70 Question Id : 6154759586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Maharshi Patanjah slability and dissolution of chitta in Grahita. Grahan and
Grahya 1s termed as

(1) Samprajat (2) Sabeeg)
(3) Samapatt1 (4) Vivekkhyati
Options:

E1547537377. 1
E1547537378. 2
B1547537379. 3
B1547537280. 4



Question Number : 70 Question Id : 6154759586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el Uesaie] % STET T W EAT, TR0 997 9l ° R U e B ST 9T ST §

(1) T (2) —are
(3)  TEMM (4) T =i
Options:

B1547537377. 1
61547537378, 2
E1547537379. 3
61547527380, 4

Question Number : 71 Question Id : 6154759587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Maharshi Patanjali the form of which of the following rivals 1s realised 1n the
ultimate stage of culmination

(1) Visuahsation (Drishva) (2) Haan
(3) Sequence (4) Realisation of the self
Options:

BE15475372381. 1
B1547537382. 2
61547537383, 3
61547537384, 4

Question Number : 71 Question Id : 6154759587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=M UesRie * SEE A0 % FRE T S e T A 0 HEE 0 A R 7

1 = (2) =H
(3) EZ] (4) =ATeEYE
Options:

E1547537381. 1
B1547537382. 2
61547537383, 3
61547537384, 4

Question Number : 72 Question Id : 6154759588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Maharshi Patanjali which one of the following is instrumental to the realisation
of Ishtadevata?

(1) Ishwar Pranidhan (2) Hanopay
(3) Swadhyay (4) Samadh
Options:

E1547537385. 1
61547537386, 2
G1547537387. 3
61547537388, 4

Question Number : 72 Question Id : 6154759588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
el Ta==Ated & STEW 3T 2941 1 WEATHR HEE a1 27

(1)  Zver TioreaH (2) =T
(3)  =EEE (4) HHY
Options:

61547537385, 1
61547537386, 2
E1547537387. 3
61547527388, 4

Question Number : 73 Question Id : 6154759589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct reference of “Tajjah samskaroanyvasamskar pratibandhi™ as per patanjal

vogsutra

(1) Samadhipad/50 (2) Vibhutipad/51
(3) Sadhanpad/50 (4) Kavalyapad/29
Options:

E1547537389. 1
61547537380, 2
61547537391, 3
E15475373392. 4

Question Number : 73 Question Id : 6154759589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TR TR Tiqa-dl” 1 didead I0 GIHER el He9 FHe

(1)  FAaTE/50 (2) fagfas/s1
(3) ATATE /50 (4) FEeTuE/29
Options:

BE1547537389. 1



B15475373390. 2
615475373581, 3
B154753735%. 4

Question Number : 74 Question Id : 6154759590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to patanjal yogsutra the element of craving (Trishna) 1s invariably missing in the

Gvnas of Prakmtiis : —

(1) Apar vairagya (2) Par vairagva
(3) Vashikar vairagyva (4) Vairagva
Options:

E1547537392. 1
E1547537354. 2
E1547537395. 3
B1547537396. 4

Question Number : 74 Question Id : 6154759590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TS AN FAHE T % 0§ HEAT AT g ST e B -

(1)  =w & (2) ™ T
(38)  ==fir dwE (4) I
Options:

E15475373593. 1
6154753723594, 2
61547537385 3
615475373396, 4

Question Number : 75 Question Id : 6154759591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which chapter of Shiva Samhita deals with the procurement of food from “Stokam Stokmane

Kadha” phenomenon?

(1) First chapter (2) Second chapter
(3) Third chapter (4) Fourth chapter
Options:

615475373571
61547537398, 2
E1547537399. 3
61547527400, 4

Question Number : 75 Question Id : 6154759591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tora afear 0 =0iF FFa4 F97 95T § 9IS F 9u e sieam o afia 27

(1) wum (2) wBIHd

[}

(3) g (4) =

Options:

6154753734971
6154753723098, 2
61547537399,
61547537400, 4

Question Number : 76 Question Id : 6154759592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Out of the five upprana which of the following prana eases the abdominal pressure

(1) Dhananjay (2) Karma
(3) Naga (4) Devdutta
Options:

E1547537401. 1
B1547537402 2
61547537403, 3
61547537404, 4

Question Number : 76 Question Id : 6154759592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ui 39U B H SHE g0 FH dl U0 38" 29 W medl FA] B 7
(1) BEEEE (2) =H
3 A (4) ==
Options:

E1547537401. 1
E1547537402. 2
B1547537403. 3
61547537404, 4

Question Number : 77 Question Id : 6154759593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which of the following scriptures do we find elucidation of “Vyompanchak™

(1) Hath Pradipika (2) Gherand samhita
(3) Siddhasiddhant Paddhata (4) Patanjal yvog Dharshan
Options:

E1547537405. 1



E1547537406. 2
B1547537407. 3
51547537408, 4

Question Number : 77 Question Id : 6154759593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“= 9" W 90 TR 7y o TR T 2 e

I:]_} e ; .:_U- I [E} :I ]\D o IFI*’»:
(3) g 724 (4) UTdeSe =T 29
Options:

615475374051
61547537406, 2
61547527407, 3
E1547537408. 4

Question Number : 78 Question Id : 6154759594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which chapter of "Siddha Siddhant Paddhat1” sadhguru has been referred to

(1) First chapter (2) Third chapter
(3) Fourth chapter (4) Fifth chapter
Options:

E1547537405. 1
61547537410 2
61547537411, 3
E154753741Z2. 4

Question Number : 78 Question Id : 6154759594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fagfugra vgld 4 "2 + favg 4 fFm seam 9 ==1 & i 27

() w9m (2) FAE=
(3)  =mY (4) T=m
Options:

E1547537405. 1
61547537410 2
61547537411, 3
E154753741Z2. 4

Question Number : 79 Question Id : 6154759595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



How many types of Mukhya nadis” have been referred to in Goraksha Samhita?

(1) Ten (Z2) Eleven
(3) Eight (4) Five
Options:

615475274121
E1547537414. 2
E1547537415 3
B1547537416. 4

Question Number : 79 Question Id : 6154759595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR HiEal § el g Aisai % AW wad £ 7

(1) == (2) Tz
(3) == (4) =
Options:

E1547537413. 1
E1547537414. 2
61547537415 3
61547537416, 4

Question Number : 80 Question Id : 6154759596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

With which practice of Hath Pradeepika the pace of sustained momentum of Mahakhag 1s
interrupted and 1s induced to gain momentum 1n sushumna?

(1) Jalandhar Bandh (2) Mool Bandh
(3) Uddiyvan Bandh (4) Jihuwa Bandh
Options:

E1547537417. 1
E1547537418. 2
61547537415 3
61547537420, 4

Question Number : 80 Question Id : 6154759596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%3 WEITTE F 8 9 & g ¥FEid 35F Wi 5T HEW i TG F TR GTE 5 I5H WH F A
Tt T S 27

(1) o= =g (2) T= Y
(3) Iz 99 (4) 5= a9

Options:



E1547537417. 1
61547537418, 2
51547537415 3
E1547537420. 4

Question Number : 81 Question Id : 6154759597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In shiva samhita which of the following nadi has been referred to as UPADHIROOPA of the
body

(1) Sushumna (2) Chitra
(3) Kuhu (4) Hastajphuva
Options:

61547537421, 1
E1547537422. 2
E1547537423. 3
B1547537424. 4

Question Number : 81 Question Id : 6154759597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ora wfea = @ T IS0 =R IR i 9T =9 HE A R

(1)  Fg=m (2) T
(3 F= (4) =M=
Options:

E1547537421. 1
B1547537422 2
B1547537423. 3
61547537424, 4

Question Number : 82 Question Id : 6154759598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Gherand Samhita Shambhavi Mudra leads to the attainment of

(1) Naad voga (2) Laya voga
(3) Dhyan voga (4) Rasanand voga
Options:

E1547537425. 1
E1547537426. 2
B1547537427. 3
B1547537428. 4

Question Number : 82 Question Id : 6154759598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TS Hizdl & SAFET e gg1 9 Wi Bt 7

(1) == am (2) =M
(3) == Im (4) T@EE T
Options:

615475374251
E1547537426. 2
B1547537427. 3
B1547537428. 4

Question Number : 83 Question Id : 6154759599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Antecedent of a personality 1s a personality 1n itself’. This statement refers to which of the
following theories

(1) Personality theory of H.J. Eysenek
(2) Personality theory of Gorden Allport
(3) Personality theory of Henry Murrey
(4) Personality theory of Kart Lewin

Options:

61547537429, 1
61547537420 2
61547537431, 2
61547537432 4

Question Number : 83 Question Id : 6154759599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“=fhe 1 SiAA #1 T4 = 21 27 55 g B gay e faga 1 27

(1) U= AEEF F1 = mg (HJ, Eysenek)

(2)  TIEA HATSUR W =T {82 (Gorden Allport)

(3) 1 7L %1 =i [8ge (Henry Murrey)

(4) T2 S 1 = Ha (Kart Lewin)

Options:

61547537429, 1
61547537420 2
E1547527421. 2
61547537422 4

Question Number : 84 Question Id : 6154759600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to which of the following theories of psychologists a person is able to perceive only
certain few stimulli as one 1s able to collect hmited information at a given time

(1) Daihik Upagam
(2) Soochana Sansadhan
(3) Nirdesh Awastha Upagam

(4) Kritrim Buddhi Upagam
Options:
154752374351
15475374234 2
15475237435 2
1547537436 4

Question Number : 84 Question Id : 6154759600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TS % B fagraan =t vF 99 8 F9 Fivaa S5t 1 & 9o (S = O R, =
o v Aua 9 Hifgd gEAm 7 TR OO E |

(1) 3% sorm
(2) AT T
(3)  FEm st surm

(4  FEM Fhg TAHE
Options:
615475374321
61547527434, 2
61547527435 3
61547537436, 4

Question Number : 85 Question Id : 6154759601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The duct of which gland 1s called Stenson’s Duet?

(1) Pancreas (2) Adrenal Gland
(3) Parotid Gland (4) Pitwtary Gland
Options:

E1547537437. 1
B1547537438. 2
61547537435, 3
61547537440, 4

Question Number : 85 Question Id : 6154759601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e = (gland) 1 =0T =999 = =@1EAl (Stenson’s Duct) Faam] 7 7

(1) A= (Pancrease) (2) ﬂ'fcﬂ’FF =9 (Adrenal Gland)
(3) g 79 (Parotid Gland) (4) 9T 79 (Pituitary Gland)
Options:

E1547537437. 1
B1547537438. 2
61547537435, 3
61547537440, 4

Question Number : 86 Question Id : 6154759602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hypothalamus 1s located 1n which part of Brain

(1) Fore Brain (2) Mid Brain
(3) Brain stem (4) Hind Brain
Options:

615475274411
61547537442 2
E1547537443. 3
E1547537444. 4

Question Number : 86 Question Id : 6154759602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
erEng=HE (Hypothalmus) AfFa=F (Brain) = 65 97 4 3@wyd 77

(1) #7371 g% (Fore Brain) (2) =% "wiEaes (Mid Brain)
(3) A=k =1 (Brain Stein) (4) 9v= A== (Hind Brain)
Options:

615475374411
61547537442 2
61547537443 3
E1547537444. 4

Question Number : 87 Question Id : 6154759603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In human body the fourth cranial nerve 1s

(1) Trigeminal (2) Trochlear
(3) Abducens (4) Hypoglossal
Options:

61547537445 1
6154753744E. 2
E1547537447. 3



E15475374458. 4

Question Number : 87 Question Id : 6154759603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qE IR § =94 F9e - (Cranial nerve) # -

(1)  ZmEsE (2) zifFe
(3) UESEEH (4) FEIREEA
Options:

61547537445 1
6154753744E. 2
E1547537447. 3
E1547537448. 4

Question Number : 88 Question Id : 6154759604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In human body the total number of Thoracic Vertebrae are

(1) 12 2)
(3) 5 (4) 10
Options:

615475374459 1
61547537450, 2
E1547537451. 3
E1547537452. 4

Question Number : 88 Question Id : 6154759604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qd T ° 943 F9% (Thoracic Vertebrae) Ta- 27

(1) 12 2y T
(3) 5 ) 10
Options:

E15475374459. 1
61547537450, 2
61547537451, 3
E154753745%2. 4

Question Number : 89 Question Id : 6154759605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In adults. which disease occurs due to deficiency of Vitamin D

(1) Kerato malacia (2) Osteomalacia
(3) Rickets (4) Osteoporosis
Options:



E1547537453. 1
61547537454, 2
61547537455 3
61547537456, 4

Question Number : 89 Question Id : 6154759605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T § faerfim 20 = FH % FE FHA-F U =T 2 7

(1)  Feme (2) AffEamT
(3) ferzm (4) e TR
Options:

61547527452 1
E1547537454. 2
E1547537455. 3
61547537456, 4

Question Number : 90 Question Id : 6154759606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which milk 1s the richest source of protein?

(1) Buffalo's milk (2) Cow's milk
(3) Goat's milk (4) Human's (Woman's) milk
Options:

61547537457, 1
61547537458, 2
61547537459, 3
E15475374E60. 4

Question Number : 90 Question Id : 6154759606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

E B e - r- o .
FH-TT 29 TEA F e |d & ¢

S

(1) HE 1 29 (2) T+ T
(3) =i F3T (4) T4 (dfEe) #1349
Options:

BE1547537457. 1
B1547537458. 2
61547537455, 3
61547537460, 4

Question Number : 91 Question Id : 6154759607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to Maharshi Patanjali Karmashaya 1s mainly attributed to which of the following
factors?

(1) Sorrow (2) Anxiety
(3 Klesh (4) Vikshipta Chittawastha
Options:

E1547537461. 1
E15475374E62. 2
E1547537463. 3
B1547537464. 4

Question Number : 91 Question Id : 6154759607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el Jastel % STER FATE T GET FE F

(1) 3= (2) T
3 T @) Taferm Fmmeen
Options:

61547537461, 1
61547537462 2
61547537462, 3
E1547537464. 4

Question Number : 92 Question Id : 6154759608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hormone secreted by « -cells of the Pancreas 1s

(1) Insulin (2) Thyroxin
(3) Glucagon (4) Adrenaline
Options:

E1547537465. 1
B1547537466. 2
G1547537467. 3
61547537468, 4

Question Number : 92 Question Id : 6154759608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STIT9M % O —HITHI3 21T |iiad 219 2

(1)  zHeA (2) AETFHA
(3)  TETIA (4) USHHAR
Options:

B1547537465. 1
61547537466, 2
E15475374E67. 3
615475274658, 4



Question Number : 93 Question Id : 6154759609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Healthy tone 1s the outcome of which of the following the types of yogic Asana?

(1) Sharr Samvardhnatmak (2) Dhyan dharnatmak
(3) Shithilatmak (4) Shithilatmak and dhyan dharnatmak
Options:

E154753746%9. 1
B1547537470. 2
61547537471, 3
E1547537472. 4

Question Number : 93 Question Id : 6154759609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=g 91 (Tore) 560 TR & 1041 % 1949 O 2@ 2 7

(1) TR HAHHATHF (2) ©IH SRR
(3) iU (4) TNiY=T® T4 SH gEeaF
Options:

61547527469 1
61547527470, 2
E1547537471. 3
B1547537472. 4

Question Number : 94 Question Id : 6154759610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the book “Yogabhayason Ki Adhyapan Vidhivan' how many kinds of Adhyvapan
vidhiyas are there?

(1) four (2) five
(3) S1X (4) seven
Options:

BE1547537473. 1
B1547537474. 2
61547537475 3
E1547537476. 4

Question Number : 94 Question Id : 6154759610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1L (2) "=
(3) = (4) ¥@Hd

Options:



BE1547537473. 1
B1547537474. 2
61547537475 3
E154753747E. 4

Question Number : 95 Question Id : 6154759611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Name the Kriva which 1s called secret according to Hathyoga Pradipika?

(1) Net1 (2) Dhaut1
(3) Kapalabhata (4) Trataka
Options:

B1547537477. 1
61547537478, 2
615475374739 3
61547537480, 4

Question Number : 95 Question Id : 6154759611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT TAITIR o STTET 59 T 1 A #aE (A T e TR -

1) & (2) i
(3) FATe Gird (4) FATF
Options:

61547537477, 1
E1547537478. 2
E1547537478. 3
E1547537480. 4

Question Number : 96 Question Id : 6154759612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Hathayoga Pradipika, Name the pranayvama that can be practiced even while
moving and sitting :

(1) Plavim (2) Murchha
(3) Upawn (4) Bhastrika
Options:

61547537481, 1
61547537482 2
61547537483, 3
61547527454, 4

Question Number : 96 Question Id : 6154759612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =T (2) T=si
(3) = (4) i

Options:

615475374511
61547537482, 2
61547537482, o
61547537454 4

Question Number : 97 Question Id : 6154759613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Placing both soles (of the feet) on the mnner side of the thighs. sitting equipoised with a
straight body. 1t known as

(D Padmasana (2) Siddhasana
(3) Swastikasana (4) Gorakshasana
Options:

61547537485, 1
61547537486, 2
E15475374B87. 3
E1547537488. 4

Question Number : 97 Question Id : 6154759613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FE % 373 F AN U F A deE w gisa O = ° IR =i TE e o

i

(1) TEHTEA @ fogma
(3)  w=femEA (4)  TTETEA
Options:

61547527485, 1
E1547537486. 2
E1547537487. 3
51547537488, 4

Question Number : 98 Question Id : 6154759614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Hatha Pradipika, in Nishpatti Awastha of Nadanusandhan which tyvpe of nada
manifests

(1) Bhenr (2) Veena
(3 Mardal (4) Vimarda
Options:

E1547537489. 1
B15475374350. 2



E1547537431. 3
B1547537452. 4

Question Number : 98 Question Id : 6154759614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
E3-TAITUHT = ATEN, ARG i, FoatasEe 4 #E TR = AE 1 T w8 7

- W

(1) i (2) =
(3) wEd (4) T2
Options:

E1547537459. 1
E15475374380. 2
E1547537431. 3
B1547537452. 4

Question Number : 99 Question Id : 6154759615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Gherand Samhita. which one 1s NOT included under saptasadhana procedures

(1) Mudra (2) Shatkarma
(3) Pratyahara (4) Niyama
Options:

615475374931
61547537434, 2
E1547537485 3
E15475374396. 4

Question Number : 99 Question Id : 6154759615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fvs e o STEER, W TS A e a6 2

() =& (2) e
(3) TTRR (4) =1
Options:

E1547537453. 1
E15475374354. 2
B1547537455. 3
51547537456, 4

Question Number : 100 Question 1d : 6154759616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Swami Satyanand Saraswati. In the practice of Laghu-Shankha-Prakshalana
which asana 1s being practiced at third step

(1) Tirvaka Bhujangasana
(2) Tirvaka Tadasana

(3) Katichakrasana

(4) Udarakarshanasana

Options:

£1547537497. 1
61547537498, 2
61547537499, 5
61547537500 4

Question Number : 100 Question Id : 6154759616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= TeATE WA % ATAN, TY-TE-TATeE F EE 8 q =00 8 TRE e o= e A

e

7

-

—

(1) o= g
(2)  foei= asEA
(3) =iz T

(4) Calbal
Options:
E1547537497 1
BE1547537498 2
615475374599 2
61547537500 4

Question Number : 101 Question Id : 6154759617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Modern scientific research found that which brain-waves gets activated during meditation

(1) a -waves (2) B -waves
(3) ¥ -waves (4) ¢&-waves
Options:

61547537501, 1
E1547537502. 2
61547527503, 3
E1547537504. 4

Question Number : 101 Question Id : 6154759617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT AT ATHI § S = 20 A 6 T w6 GleT 9 e 2 e

(1)  o- @ (2) B - T
(3) y- (4) ©-
Options:

E1547537501. 1
E1547537502. 2
B1547537503. 3
61547537504, 4

Question Number : 102 Question 1d : 6154759618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which are the following Vaidic Rishis?

(a) Angira
(b) Raman Maharshi
(c) At

(d) Maharshi Mahesh Yogi

Choose the correct option :

(1) (a) and (b) (2) (a)and (c)
(3)  (a)and (d) (4) (b) and (c)
Options:

615475375051
61547537506, 2
E1547537507. 3
E1547537508. 4

Question Number : 102 Question Id : 6154759618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafniaa § 5 F9 afa® T 2 7

(a)  #AFET

(b) T HEM

(@  #Af

(d) =& 72T A

1)  (a) 3 (b) (2) (a) # (¢)
3 ()3 (@ 4)  (b) #N ()
Options:

61547537505, 1
E1547537506. 2
E1547537507. 3
51547537508, 4



Question Number : 103 Question Id : 6154759619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following scriptures do we find description of ‘Ajo Nityvah Shashvatoayam
Purano™?

(a) Prashna Upanishad
(b) Kathopamshad

(c) Bhagwadgita
(d) Yogvashishtha

Choose the correct option :

(1) (a) and (c) (2) (b) and (c)
(3) (a) and (d) (4) (b)and (d)
Options:

61547527509, 1
E1547537510. 2
B1547537511. 3
B1547537512. 4

Question Number : 103 Question 1d : 6154759619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
"FAT e IEAsT O A IR | i B 7

(a)  W¥F IUMEE

(b) HAMTHIE

i

-

(c) E U CERIIG
(d) AMTEATIOTE

(1) (a) # (c) (2) (b) 3 (c)
3)  (a)#7 (@) (4) (b) ¥ (d)
Options:

615475375051
61547537510, 2
61547527511, 3
E1547537512. 4

Question Number : 104 Question Id : 6154759620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Dhyanbindu upanishad which laya 1s inherent in the third part of Omkar viz
makar?

(a) Antarmksha

(b) Dhyau

(c) Samveda

(d) Yajurveda

Choose the correct option :

(1)  (a) and (b) (2) (a)and (c)
(3) (b) and (c) (4) (b)and (d)
Options:
E1547537515.
61547537514
61547537515
1547537516

L N

Question Number : 104 Question 1d : 6154759620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST SIMHTE = SN SRR F JaE A% TR A 1 S B A 7

(a) e
) =

(c)  EER
@ T

1)  (a) 377 (b) (2) (a) F (c)
(3)  (b) #T (c) (4) (b) ¥ (d)
Options:

615475275121
61547527514, 2
E1547537515. 3
BE1547537516. 4

Question Number : 105 Question Id ;: 6154759621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“In which of the following upanishads shadang voga has been described?

(a) Yoga chudamamni upanishad
(b) Nadbindu upanishad

(c) Dhyanbindu upanishad

(d) Shwetashwatar upanishad

Choose the correct option :
(1) (a) and (b) (2) (a)and (c)
(3) (b) and (c) (4) (b) and (d)

Options:



BE1547537517. 1
61547537518, 2
61547537515, 3
61547537520, 4

Question Number : 105 Question Id : 6154759621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

fefeiaa § 9 79 299l 9 957 37 a0 27

(a) 1 TSI IR

(b) 1E T 4 *ﬂE;Hi

(c) ZIEIE el ERIE L

(d) ATEAT 3T

i Fore g

(1)  (a) 5 (b) (2) (a) # (c)
3)  (b) 3 (o) (4) (b) 3 (d)
Options:

E1547537517. 1
E1547537518. 2
61547537515, 3
61547537520, 4

Question Number : 106 Question Id : 6154759622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which of the following scriptures do we find description of Ashtakumbhak?

(a) Hathapradipika

(b) Patanjal Yoga darshan
() Gherand samhita

(d) Shiva samhita

Choose the correct option :

(1) (d) and (c) (2) (a) and (b)
(3) (b) and (d) (4) (a)and (c)
Options:

615475275211
61547537522 2
E1547537523. 3
E1547537524. 4

Question Number : 106 Question Id : 6154759622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FTFTF FT T T T T e 27
(@)  E3TSIIE

(b) TS AT FEA

(¢)  =us AfEa

(d) @ AR

o frpew gf -

1)  (d) = (0) (2) (a) ¥ (b)
(3)  (b) = (d) (4) (a) # (c)
Options:

615475237521, 1
E1547537522. 2
E1547537523. 3
B1547537524. 4

Question Number : 107 Question Id ;: 6154759623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are Ear Bones?

(a) Stapes
(b) Incus
(c) Ihum

(d) Scaphoid

Choose the correct option :

(1) (a) and (b) (2) (a)and (c)
(3) (b) and (c) (4) (c)and (d)
Options:

BE1547537525. 1
B1547537526. 2
G1547537527. 3
E1547537528. 4

Question Number : 107 Question Id : 6154759623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAteatiad 5 | &+ Fo1 s 27

(a) =

(b) =FH

()  sfo=m

(d)  THHETE

1) (a) 3 (b) (2) (a) ¥ (o)

(3)  (b) 3T (c) (4) (c) FR (d)



Options:

615475375251
61547537526 2
E1547537527. 2
61547537528 4

Question Number : 108 Question Id : 6154759624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to yoga sutra, Ishwar pranidhana is included under

(a) Mahavrata
(b) Ervayoga
(c) Yama

(d) Niyama

Choose the correct option :

(1) (b) and (d) (2) (b) and (c)
(3) (a) and (b) (4) (a)and (c)
Options:

61547537529, 1
E1547537530. 2
E1547537531. 3
B1547537532. 4

Question Number : 108 Question Id ;: 6154759624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TS F HFEN, ST U0 e e St e e 8 7

(@)  HeEd

(b) o am

(c) g

@ e

(1) (b) 3 (d) (2)  (b) 3 (c)
(3)  (a) = (b) 4) (a) # (0)
Options:

615475375291
61547537530, 2
61547527531, 3
BE1547537532. 4

Question Number : 109 Question Id : 6154759625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are water soluble vitamins?
(a) Vitamin A
(b) Vitamin B
(c) Vitamin C
(d) Vitamin D

Choose the correct option :

(1) (a) and (b) (2) (a)and (d)
(3) (b) and (¢) (4) (c)and (d)
Options:

51547537533, 1
61547537534, 2
61547537535 3
E1547537536. 4

Question Number : 109 Question Id : 6154759625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafaias 4 9 %1 7 § Joeie Hema 2 7

(@) Tz A

(b) fa== B

(c) Taerma C

(d) fa=ri= D

1) (a) =7 (b) (2) (a) ¥ ()
(3)  (b) # T (c) 4) (c) 31 (d)
Options:

61547537533 1
61547537534, 2
E1547537535. 3
E1547537536. 4

Question Number : 110 Question Id : 6154759626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are classified under Body-Building Foods?

(a) Fats

(b) Pulses

{c) Meat

(d) O1ls

Choose the correct option :

(1)  (a)and (d) (2) (b) and (c)
(3) (a) and (b) (4) (b) and (d)

Options:



BE1547537537. 1
61547537538, 2
61547537539, 3
61547537540, 4

Question Number : 110 Question Id : 6154759626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR -HIEE = 190 i, 9799 % A A=ieiEd 3 8 Fi ° grEg-usd wh B 7

(a) 47 (Fats)

(b) 271 (Pulses)
(c) 7159 (Meat)
(d) == (Oils)

1) ()37 () (2) (b) F (c)
(3)  (a) T (b) (4) () = (d)
Options:

BE1547537537. 1
B1547537538. 2
61547537539, 3
61547537540, 4

Question Number : 111 Question 1d : 6154759627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Unhealthy state of emotion 1s mainly caused by which of the following factors :

(a) Samsayva

(b) Pramad

(c) Vyvadhi

(d) Alasya

Choose the correct option :

(1) (a) and (c) (2) (b) and (d)

(3) (a) and (b) (4) (c) and (d)
Options:

615475275411
61547537542 2
E1547537543. 3
E1547537544. 4

Question Number : 111 Question Id : 6154759627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



raTca AT R T R z

(a) o3

(b) UEE

(c) =Y

(d) T

(1) (a) 3 (0 (2) (b) 3 (d)
(3) () #T (b) (4) () =R (d)
Options:

515475375411
61547537542 2
61547527542 3
E1547537544. 4

Question Number : 112 Question Id : 6154759628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Gherand Samhita, which of the following food items are contraindicated for a
yoga practitioner?

(a) Mudga
(b) Chanak
(c) Kulattha
(d) Masoor

Choose the correct option :

(1)  (a) and (b) (2) (c)and (d)
(3) (a) and (d) (4) (b) and (c)
Options:

615475375451
6154753754E. 2
E1547537547. 3
E1547537548. 4

Question Number : 112 Question Id : 6154759628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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b) =

(c) Feled

@ =

A faweT =

(1) (a) 3 (b) @) () ¥ (d)

(3) ()3 (d) 4)  (b) FF (o)
Options:

615475375451
E154753754E. 2
E1547537547. 3
61547537548, 4

Question Number : 113 Question Id ;: 6154759629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following Asana are contraindicated during third trimester of pregnancy?

(a) Marjar: Asana

(b) Bhadrasana

(c) Pashchimottanasana
(d) Pawanmuktasana

Choose the correct option :

(1) (a) and (d) (2) (b) and (c)
(3) (a) and (b) (4) (c)and (d)
Options:

615475275491
61547537550, 2
E1547537551. 3
B1547537552. 4

Question Number : 113 Question Id : 6154759629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THEE % FAE-AAE 2 FEfEiEd § 0 FE-T1 36 ated 7 7

(a) HTAR A

(b) LR

()  wiv=m=E

(d) EECERALE]

1)  (a) 3R @) 2) (b) 31 (c)

(3)  (a) 3 (b) (4 (c) F (d)



Options:

61547537549 1
61547537550 2
E15475327551. 2
61547537552 4

Question Number : 114 Question Id : 6154759630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are NOT related with Vishuddhi Chakra?

(a) 12 petals
(b) Hridya Pradesh
(c) 16 petals
(d) Kantha Pradesh

Choose the correct option :

(1) (c) and (d) (2) (a) and (b}
(3) (b) and (c) (4) (a)and (d)
Options:

BE1547537553. 1
61547537554, 2
61547537555 3
61547537556, 4

Question Number : 114 Question Id : 6154759630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fretfetias § @ i ffg-=m & watd T 27
(a) 12 &

b)  &F WA

{c) 16 g5t

(@ s

(1)  (c) 37 (d) (2) (a) 3 (b)
(3)  (b) # W (¢) (4) (a) AT ()
Options:

615475375531
61547537554, 2
61547537555 3
E1547537556. 4

Question Number : 115 Question Id : 6154759631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The food predominant in which Rasas are beneficial for individuals of Kapha Prakrit1?

(a) Lavana

(b) Amla

(e) Katu

(d) Tikta

Choose the correct option :

(1) (b) and (c) (2) (a) and (d)
(3) (a) and (b) (4) (c)and (d)
Options:

61547537557, 1
E1547537558. 2
E1547537559. 3
61547537560, 4

Question Number : 115 Question Id ;: 6154759631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FF WH 9Tl SAFAT & o0 HH-H T T5d aTe Sea-921d AE 2 7

(a) EEL

(b) A

(c) E T

(dy T

A faeT =1

1)  (b) ¥ (o) @ (a) 37 (@)
3)  (a) 3 (b) 4) (o) # (@)
Options:

E1547537557. 1
B1547537558. 2
61547537555, 3
61547537560, 4

Question Number : 116 Question Id : 6154759632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Hatha Pradeepika. which of the following are NOT included under the six
causes which bring success i1n Hatha yoga?

(a) Tattvajanana

(b) Shraddha

(c) Nishchaya

(d) Smrit1

Choose the correct option :

(1) (a) and (c) (2) (b) and (d)
(3)  (a)and (b) (4) (c) and (d)



Options:

61547537561, 1
61547537562 2
15475375632 2
61547537564, 4

Question Number : 116 Question Id : 6154759632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

73 TRIUHT % FEN, FSANGLg F B RO H fidiEd § ° FiA o 9751 27
(a) drd §H

(b) aaT

(c) A==

.

(d) =

TEl EEeT = W

1) (a) 37 © (2) (b) 7 (d)
(3)  (a) 3T (b) (4) (c) 37 (d)
Options:

61547537561, 1
61547537562, 2
E1547537563. 3
E1547537564. 4

Question Number : 117 Question Id ;: 6154759633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are twisting asanas?

(a) Tadrsana

(b) Ardhamatayvendrasana
(c) Katichakrasana

(d) Pawanmuktasana

Choose the correct option :

(1) (a) and (d) (2) (b) and (c)
(3) (a) and (b) (4) (c)and (d)
Options:

61547537565, 1
61547537566, 2
E15475375E7Y. 3
E1547537560. 4

Question Number : 117 Question Id : 6154759633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) GIEAL R
(b)  HAGHEEETEA
(c)  TieamFEA

(d) TaAHTTHA

gﬁ[ .- S~ -_lln..___‘ i

(1) (a) 317 (d) 2 (b) F (c)
(3)  (a) 3 (b) (4) (c) 1 (d)
Options:

E1547537565. 1
E1547537566. 2
B1547537567. 3
61547537568, 4

Question Number : 118 Question 1d : 6154759634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Gherand Samhita. in which seasons the practice of Hathayoga should NOT be
started

(a) Basanta
(b) Greeshma
(c) Varsha

(d) Sharad

Choose the correct option :

(1) (a) and (d) (2) (a)and (b)
(3) (c) and (d) (4) (b) and (c)
Options:

E1547537569. 1
B1547537570. 2
B1547537571. 3
B1547537572. 4

Question Number : 118 Question 1d : 6154759634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TUE Hledl & AR, T Fa A § 53a0TETE AR TR O 9ien 7

(@) =ET
(b) I\
(¢ =

(d) e

HE o0 S R

(1)  (a) 317 (d) (2) (a) 3R (b)
(3)  (¢) = (d) (4) (b) #W (c)
Options:

61547537565, 1
615475375700 2
E1547537571. 3
61547537572 4

Question Number : 119 Question Id : 6154759635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What are the qualities of a yoga teacher?

(a) Satvik personality

(b) A healthy body for doing voga practices

(c) Good communication in teaching

(d) Self experience of Yoga practice. Good preparation and instructional ability

Choose the correct option :

(1) (b) and (d) (2) (b) and (c)
(3) (a) and (d) (4) (a)and (c)
Options:

E1547537573. 1
E1547537574. 2
B1547537575. 3
B1547537576. 4

Question Number : 119 Question Id : 6154759635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



()  Efe =i
(b)  TMTENET F U UF TS IR
(c) fﬂpTﬂT I[ 3:!,-"][;_—::!: Tedr

(d) TS T A, F=S TR AT SFAIE A

(1) (b) FF (d) (2) (b) = ()
(3)  (a) &7 (d) (4) (a) 317 (c)
Options:

B1547537573. 1
61547537574 2
61547537575 3
E1547537576. 4

Question Number : 120 Question Id : 6154759636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List-1 with Last-I1 :

List I List IT
(a) Swami Vivekananda (1) Rishikesh
(b) Swami Shivananda Saraswati (1) Kolkata
(c) Sn T.K. Krishnamacharya (m) Haridwar
(d) Pt. Sr1 Ram Sharma Acharva (1v) Mysore

Choose the correct option :

(1) (a)-(1). (b)-(1). (c)-(av). (d)-(111)
(2) (a)-(m1). (b)-(11). (c)-(1v). (d)-(1)
(3) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)

(4) (a)-(1). (b)-(11). (c)-(11), (d)-(1v)
Options:
61547537577 1
E1547537578. 2
E154Y537579. 3
61547537580 4

Question Number : 120 Question Id : 6154759636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H=1-1 %1 g1 F oo 7

-1 =111
(a) wAT faEE (i) =
(b) == e Al (ii) =iershml
() #f Zi. FomEE (i) =fgn
(d) . *E I A= (iv) &

1 fam o fawet | # TR fawen =4

(1) (a)-(w). (b)-(). (c)-(v). (d)-(111)
(2) (a)-(11), (b)-(11), (c)-(1v). (d)-(1)
(3) (a)-(11). (b)-(1v). (¢)-(111), (d)-(1)

4 (a)-). (b)-Gn). (¢)-(1). (d)-(1v)
Options:
El1547537EYF. 1
61547537578 2
1547537579 3
61547537580 4

Question Number : 121 Question 1d : 6154759637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-I1 :

List I List IT
(a) Swami Vivekananda (1) Upasana voga
(b) S Aurobindo (1) Janana voga
(¢) Ramana Maharsh () Raja voga
(d) Maharshi Dayananda Saraswati (1v) Integral yoga

Choose the correct option :

(1) (@)-). (b)-(). (c)-Gu). (d)-(av)
(2) (a)-(1). (b)-(1i1). (¢)-(iv). (d)-(1)
(3)  (a)-n). (b)-(av). (c)-(11). (d)-(1)
@) (a)-(v). (b)-(i). (c)-(1). (d)-(iii)

Options:

61547537581, 1
61547537582 2
61547537582 2
1547527584 4

Question Number : 121 Question Id : 6154759637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e g=t =1 fiem =1

[m] [m]

-1 THI-1T
(a) faTwmz (1) ST A
(b) i awlE= (i) 3= =
(¢) THU HEM (i) T =
(d) T=RT T Gv) Tt =M

(1)  (a)-(1). (b)-(). (c)-(11). (d)-(1v)
(2) (a)-(i1). (b)-(111). (c)-(1v). (d)-(1)
(3)  (a)-(i11). (b)-(iv). (c)-(i1), (d)-(1)

(4) (a)-(1v), (b)-(11). (c)-(1). (d)-(111)
Options:
61547527581, 1
61547537582 2
61547537583 3
61547537584 4

Question Number : 122 Question Id : 6154759638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II based on Taittimya Upamishad :

List I List IT
(a) Shraddha (1 Madhya Bhag (middle part)
) Rit (i) Head
(c) Satya (1) Raght side
(d) Yoga (1v) Left side

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(iv), (d)-(2)
(3) (a)-(m). (b)-(1v). (c)-Q). (d)-(1)
(4) (a)-(1v). (b)-(12). (c)-(111), (d)-(2)

Options:

61547537585, 1
61547537586 2
E15475327587. 2
61547537588, 4

Question Number : 122 Question Id : 6154759638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Afea sutee % sEr g=-1 0 g1 | gt Hira

AT THII
(a) Agl (1) T G
. i)
() ¥ (i) =eAT U
(d) = (iv) =P 9

= {20 e fapeal 9 | |E) 39 g

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1i1), (c)-(iv). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

4 (a)-av). (b)-(). (c)-(i11), (d)-(1)
Options:
615475375551
61547537586, 2
61547537587, o
61547537588, 4

Question Number : 123 Question Id : 6154759639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-I with List-II based on Nadbindu Upamshad :

List I List IT
(a) Akar (1) Surya
(b) Ukar (i) Aeni
(c) Makar (1) Varum
(d) Ardhamatra (1v) Vayu

Choose the correct option :

(1) (@)-0). (b)-(1), (c)-(1), (d)-(v)
(2) (a)-(11). (b)-(av). (c)-(1). (d)-(111)
(3 (a)-(). (b)-(11). (c)-(1), (d)-(av)
(4 (a)-(n). (b)-(), (c)-(1v), (d)-(1)

Options:

15475375891
E1547527590. 2
61547537591, 5
61547537592 4

Question Number : 123 Question Id : 6154759639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1E famg 399 = AR gei-1 = gei-11 § gafed Hir

T=-1 T=I-1I
(a) HFN @ 9
(b) TR (i) =7
() THNE (iii) =T
(d) HAEEEn (iv) =

S 53 = faswedt 4 @ wE e g

(1) (a)-(1). (b)-(112). (c)-(11), (d)-(1v)
(2) (a)-(11). (b)-(1v). (c)-(1). (d)-(112)
(3) (a)-(1). (b)-(i1). (c)-(i11), (d)-(iv)

(4)  (a)-Gi1). (b)-(1). (e)-(iv). (d)-(1)
Options:
61547537589 1
61547537590 2
61547537591 2
E1547537592. 4

Question Number : 124 Question Id : 6154759640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-IT :

List I List IT
(a) Tivrasambeganamasannah (11 Sadhanpad
(b) Tadarth ev drshysyatma (1) Vibhutipad

(c) Kramanyatva parinamanyatve hetuh () Samadhipad

(d) Tatah kleshkarma mivrittih (1v) Kaivalyapad

Choose the correct option :

(1) (a)-(1). (b)-(11), (c)-(111), (d)-(1v)
(2 (a)-(i). (b)-(id). (¢)-(iv). (d)-@)
(3)  (a)-@v). (b)-(11). (e)-(1). (d)-(i11)
(4 (a)-(u). (b)-(1). (c}-(10). (d)-(v)

Options:

615475375931
61547537594 2
61547537595 2
E15475327596 4

Question Number : 124 Question Id : 6154759640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=A1-1 1 g1-I1 & gofea Hifa,

-1 TFHI-1I
(a) AT FETEEEA (1) == 9IE
(b) @Y TE T @) fayfa e
(c) =HT=Ica TioTHICaEd: (iii) =ETE 912
(d) a: Forerwd fah: (iv) Faea e

= 29w fawedl 4 9 o 3 g

(1) (a)-(1). (b)-(11). (c)-(1i1), (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(iv). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)

(4)  (a)-(ii). (b)-(), (c)-(1). (d)-(iv)
Options:
61547527592, 1
61547527594 2
61547537535 3
615475375396, 4

Question Number : 125 Question 1d : 6154759641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last-I with Last-IT :

List I List IT
(a) Dmk Shakt (1) Jnanendriva
(b) Darshana Shakti (1) Tanmatra
(¢) Vishesha (1) Mula Praknti
(d) Awishesha (1v) Buddhm
(e) Alinga (v) Purusha

Choose the correct option :

(1) (a)-(11). (b)-(1). (¢)-(11). (d)-(1v). (e)-(V)
(2) (@)-(v), (b)-(v), (c)-(1). (d)-(11). (e)-(111)
(3) (a)-(1), (b)-(1), ()-(v), (d)-(1v), (e)-(1)
(4) (a)-(1). (b)-(1), (c)-(m1), (d)-(v). ()-(V)

Options:

E15475375497. 1
61547537598 2
61547537599,
61547537600 4

Question Number : 125 Question Id ;: 6154759641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 1 gE-10 = T e

(a)
(b)
(c)
(d)

(e)

=11 =111
TF T (i) T
Z9 T (i) @=Hm
Ty (i) Fe TR
At (iv) =fg
AT (v) T59

=t fau o fempei o # T e =4

(1) (a)-(i1). (b)-Q). (c)-(1), (d)-(v). (e)-(v)
(2} {a}-{"i."}, (b}—(l‘i-"), {C}-{l} (d}'{ll} {E]—I:]_'I_'[}
(3) (a)-(11), (b)-(111). (c)-(v), (d)-(av), (e)-(1)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v). (e)-(V)

Options:

E1E4F7EZFEST. 1

E1E47537598. 2

E1E47537599. 2

E1E47537E00. 4

Question Number : 126 Question Id ;: 6154759642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-1I with Tast-IT :

ListI ListIT
(a) Purveshamapi guruh Kalenaana- (1)  Vibhut1
Vachchhedat
(b) Hndaye Chittasamvit (1) Ishwar
(¢) Tato dvandvanbhighatah (1) Abhyas
(d) Sa tu dirghakalanairantarya (1v) Asana

satkaraasevito dridhbhoomih

Choose the correct answer from the given options :

(1) (a)-(ii). (b)-(i). (c)-@). (d)-({iv)
2)  (a)-(), (b)-(), (e)-(111), (d)-(iv)
(3)  (a)-(iv). (b)-(1). (e)-(1). (d)-(ii1)
(4) (a)-(11). (b)-(1). (c)-(v). (d)-(11)

Options:

61547537601, 1
E1S547537602. 2
15475327602 2
61547537604, 4

Question Number : 126 Question Id : 6154759642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 gL o gafaa Fifw

H=1-1 F=I-1T
(a) THTEM TE: FeAHTEEEE i TgE
(b) wE T @) =
(c) ar ggHraHETa: (iii) 3T
(d) @ 7w TR S Hiaa geuiEl @v) A

= 23 ™ forpedi 4 9 = 3 ghw

(1)  (a)-(i1). (b)-(11). (c)-(1). (d)-(iv)
(2)  (2)-Q). (b)-(10). (c)-(11), (d)-(v)
(3)  (a)-(iv). (b)-(D). (e)-(1), (d)-(111)
(4 (a)-G1). (b)-(). (e)-(iv), (d)-(1i1)

Options:

61547537601, 1
61547537602 2
15475327602 2
61547537604, 4

Question Number : 127 Question Id : 6154759643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match Last-I with Last-II :

List I List IT
(a) Radius (1) Wrst
(b) Trapezium (n) Hip
() Fibula (m) Forearm
(d) Ischium (1v) Leg

Choose the correct option :

(1)  (a)-(n). (b)-(). (¢)-(1v). (d)-()
(2)  (@)-(wv). (b)-(111), (c)-(10). (d)-(1)
(3)  (a)-(1). (b)-(). (¢)-(xv). (d)-(11)
4 (a)-Q). (b)-(D). (c)-(v), (d)-(1iD)



Options:

61547537605, 1
1547537606 2
15475327607, 2
61547537608, 4

Question Number : 127 Question Id : 6154759643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt safesat =it 33 safafs =+ @y gafT =1
THl-1 T=l-11
(a) @f=w=meF (Radius) (1) e (Wrist)
(b) TH=ETS (Trapezium) (1) Fea1 (Hip)
(¢)  HAEATTHT (Fibula) (i1) #FaE (Forearm)
(d) TS (Ishium) (iv) T (Leg)

fau 7w famrel 9 | WAl fawew =

(1) (a)-(11), (b)-(11), (e)-(1v), (d)-(1)
(2)  (a)-v), (b)-(11), (c)-(11). (d)-(1)
(3)  (a)-(1u). (b)-@). (c)-(v), (d)-(11)
4 (2)-Q). (b)-(). (e)-(v). (d)-(111)

Options:

61547537605, 1
1547537606 2
1547537607, 5
61547537608, 4

Question Number : 128 Question Id : 6154759644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List I List IT
(a) Shitah (1)  Purnfication of Sinus
(b) Agnisar (1) Throat Purfication
() Upa (1) Increasing digestion
(d) Bhastrika (1v) Suppression of excessive thirst

Choose the correct option :

(1) (a)-(1v). (b)-(1). (c)-(111), (d)-(1)
(2) (a)-(11). (b)-(1v). (c)-(2). (d)-(1m1)
(3) (a)-(1v). (b)-(111), (c)-(11), (d)-(1)

(4) (a)-(1m1). (b)-(11). (c)-(v), (d)-(1)
Options:
61547537609, 1
61547537610 2
61547537611, 2
1547537612 4

Question Number : 128 Question Id : 6154759644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=-1 =1 =11 | gafeq it

-1 =11
(a) At (1) @TETE F T
(b) sz (1) T F TEE
(€) s=rl (i) 9= =EE
(d) == (1v) wETE T IEA

Hr= 22 T e 4 F wE I g

(1) (a)-(1v). (b)-(1). (¢)-(ii1), (d)-(11)
(2) (a)-(11), (b)-(1v), (c)-(1). (d)-(111)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)

4)  (a)-(id). (b)-(11), (e)-(v), (d)-(1)
Options:
15475376091
1547527610, 2
E1547E37E11. 2
E1E47537FEL2. 4

Question Number : 129 Question Id : 6154759645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following siddhis based on shwetashvatar upanishad

(a) Aarogvata

(b) Sharirik Laghavata (Halkapan)
(c) Varnaprasad (Sharirik Tejaswita)
(d) Swar/Vaani madhurya

(e) Alolupata

Choose the correct option :

(1) (b). (a). (e). (c). (d)
(2) (a). (b). (e). (c). (d)
(3) (c). (b). (a). (e). (d)

(4) (e). (d). (a). (b). (c)

Options:

615475376131
61547537614, 2
61547537615 2
61547537616 4

Question Number : 129 Question 1d : 6154759645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(a) AT

(b)  wHifF wmEEar (FewraA)
()  =vwETe (WHifeE defeamr)
(d) T /ami i ggIa

(e)  HASATTAT

ek

e w9

1) (b (@). (e, (c). (d)
2 (a). (). (e). (c). (d)
(3) (c). (b). (a). (e). (d)
(4) (e). (d). (a). (b). (c)

Options:

615475376131
61547537614 2
15475327815 2
61547537616, 4

Question Number : 130 Question Id : 6154759646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in proper sequence

(a) Bhrantidarshan

(b) Samshaya

(c) Alabdhabhumikatva
id) Pramad

(e) Avirati

Choose the correct option :

(L) (a) (). (). (d). (e)
(2) (e). (a). (b). (c). (d)
(3)  (b). (d). (e). (a). (c)
(4)  (d). (b). (a). (c). (e)

(5) (c). (a). (b). (e). (d)
Options:

615475376171
61547537618 2
615475276149 2
61547527620, 4

Question Number : 130 Question Id : 6154759646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) LSRR

b) =

()  FAEEaHHFE
(d) THE

(e) =i

Rl éimlﬂﬁﬁ:

(1) (a). (b). (c). (d). ()
@ (o). (@. ®). (©. (@)
(3)  (b). (). (e). (a). (c)
(4)  (d). (b). (a). (c). (e)
(3)  (e). (a). (b). (e). (d)

Options:

15475376171
1547537818 2
61547537619, 5
61547537620 4

Question Number : 131 Question Id : 6154759647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following parts of a nephron 1n correct sequential order :

(a) Distal Convoluted Tubule
(b) Glomerulus
(c) Proximal Convoluted Tubule

(d) Loop of Henle

Choose the correct option :

(D (o). (@) (d). (e)
(2)  (a. ). @d). (@
(3)  (c).(d). (a). (b)

(4)  (b). (c). (d). (a)
Options:

61547537621, 1
E1547537E22. 2
BE1547537623 3
61547537624 4

Question Number : 131 Question 1d : 6154759647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(a) ferea Fiaegs g

(b) THAHEEH

(c) ‘.:I'TTJFH%EFT r«hTﬂ:i'I r_v*-{.—'js ERL

d) =9 AT =

(1) (b). (a). (d). (c)
(2)  (a). (b). (d). (c)
(3) (o). (. (a). (b)

4  (b). (c). (d). ()
Options:
615475376211
1547537622 2
61547537622, o
61547537624 4

Question Number : 132 Question Id ;: 6154759648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following in proper sequence as per yoga sutra :

(a) Daurmanasya
(b) Shwas-Prashwas
(c) Dukh

(d) Angmjvatva

Choose the correct option :

(1)  (a). (). (c). (d)
(2)  (b). (). (d). ()
(3) (0. (a). (d). (b)

(4 (d). (). (c). (a)



Options:

61547537625, 1
1547537626 2
1547537 E27. 2
61547537628, 4

Question Number : 132 Question Id : 6154759648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

! [ P i i =,
AT FATER ARG =1 FHAAN =="E4T I -

(b) -9 dE
(c) Ege]

(d)  FFEwEA

— N

(1) (a). (b). (c). (d)
(2) (b). (c). (d). (a)
(3) (c). (a). (d). (b)

(4) (d). (b). (). (a)
Options:
61547537625 1
E154753762E. 2
61547537627, 3
61547537628, 4

Question Number : 133 Question Id : 6154759649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-I with List-II :

ListI List IT
(a) Mitrata (1) Apunyavan
(b) Karuna (1) Dukha
(¢) Mudita (1) Sukha
(d) Upeksha (iv) Punvavaan

Choose the correct answer from the option given below :

(1) (a)-(1). (b)-(i1), (c)-(i11), (d)-(iv)
(2) (a)-(1v). (b)-(). (c)-(11). (d)-(1m1)
(3) (a)-(111). (b)-(i1). (c)-(1). (d)-(1v)

(4 (a)-(u). (b)-(1), (¢)-av), (d)-(1)
Options:

1547537629, 1

61547537630 2

61547537631, 2

61547537632 4

Question Number : 133 Question 1d : 6154759649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=it-1 =1 g=i1-I1 & grfed Fifao

-1 =11
(a) o (1) A=
(b) =FEW (i) 34
(c) Hfam (i) FH@
(d) =uam (1v) T=EH
H= 53 ™ faewt 4§ = I g

(1) (@)-(1). (b)-(a1). (c)-(111), (d)-(1v)
(2) (a)-(1v). (b)-(1). (c)-(11), (d)-(111)
(3) (a)-(111). (b)-(11), (€)-(1). (d)-(1v)

4)  (a)-(1). (b)-(u). (e)-(1v). (d)-(2)
Options:
61547537620,
61547537630,
61547537631,
61547537632,

b LI P

Question Number : 134 Question 1d : 6154759650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following 1n proper sequence based on teaching lesson plan of vogic practices :

(a) Presentation of lesson
(b) Personal practices
(c) Question answer

(d) Group practice

Choose the correct option :

(1) (a). (b). (¢). (d)
(2) (d). (a). (b). (c)
(3 (d). (e). (). ()

4)  (a). (b). (d). (c)

Options:

61547537633,
61547537634,
61547537635,
E1547537636.

[ N

Question Number : 134 Question Id : 6154759650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TETEATET i HSAT TS SATEN Wl B ° A" i)

(a) IS T Tl

(b) AR AT
(c) 94 I

(d) TR ATE

(1) (a). (b). (c). (d)
(2) (d). (a). (b). (c)
(3) (d). (e). (b). (a)

(4) (a). (b). (d). (c)

Options:

61547537633, 1
61547537634 2
61547537635 2
1547537636 4

Question Number : 135 Question Id : 6154759651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Maharshi Patanjali, arrange the following 1n correct sequential order :

(a) Smirti

(b) Prajana
(c) Veerya
(d) Shraddha

(e) Samadhi

Choose the correct option :

(1) (b). (a). (d). (c). (e)
(2) (d). (a). (b). (c). (e)
(3) (d). (c). (a). (e). (b)

(4)  (a). (c). (b). (e). (d)
Options:

61547537637, 1
1547537638 2
15475327629 2
61547537640, 4

Question Number : 135 Question Id : 6154759651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



] qaata % gan Fefafaa # 78 w0 9 990

i

(a) =
(b)
(c) =74
(d  #ar
(e)  ¥ANA

(1) (b). (a). (d). (c). (e)
(2) (d). (a). (b). (c). (e)
(3) (d). (c). (a). (e). (b)

4) (@) (c). (b). (e). (d)
Options:
E1547537E37. 1
61547537638 2
61547537639 2
61547537640 4

Question Number : 136 Question 1d : 6154759652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Given below are two statements., one 1s labelled as Assertion (A) and other 1s labelled as

Eeason (R) :

Assertion (A):  Satvika people worship Satvika God

Reason (R) : Satvika people like the qualities of hot. salty and tasty food

In the hight of above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true

Options:

615475376411
61547537642 2
61547537642 o
61547537644 4

Question Number : 136 Question Id : 6154759652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)

(2)

(3)

(4)

Options:

(&) it (R) 31 5 2 ST (R), (&) H 7 =0 2
(&) st (R) 2R 1 3 i (R), (A) 1w =men 2
(A) =7 7, A (R) T 2|

(A) T4 7, =i (R) T E |

E1547537641. 1
E154753764z2. 2
E1547537643. 3
E1547537644. 4

Question Number : 137 Question Id ;: 6154759653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Gaven below are two statements, one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  One 1s flooded with good ideas in the state of happiness.

Reason (R) : Cognition remains unaffected with emotion.

In the light of above two statements, choose the correct option :

(1)

(2)

(3)

(4)

Both (A) and (R) are true and (R) 1s the correct explanation of (4)
Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 12 false, but (R) 1s true



Options:

61547537645, 1
1547537646 2
E1547537647. 2
61547537648, 4

Question Number : 137 Question Id : 6154759653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

H=r fau o =yt ° 7 v w7 AfaEweA (A) 91T 79 = 9w (R) oo o

ATTFA (A) : AFZEAF TSI § g5d =g -3T=8 fO=n o1 #)
% (R) : I3[ T © T9TEd A9 w2l 2

IO 21 AT % G2 0 FefetEa 4 ¥ w9 fages g9

(1)  (A) ¥R (R) 31 @51 2 370 (R). (A) =i @& =7 2|
(2) (A 3R (R) 341 @ 2 3 (R). (A) F1 wé = 74 2
(3) (A =TF 2, @fFA (R) o4 2|

(4) (A) e 7, oA (R) T 2
Options:
61547537645 1
E154753764dE,. 2
E154753764d7. 3
61547537648 4

Question Number : 138 Question Id : 6154759654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements. one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  The demonstration method has a hizgh educational value with motivation
11 yoga programme.

Reason (R) : It upholds the principles of ‘Seeing 1s believing learning by doing’ and it 1s

a muxture of theoritical and practical teaching.

In the light of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 1= true, but (R) 1s false
(4) (A) 1s false. but (R) 1= true
Options:
1547537649 1
61547537650 2
61547537651 2
61547537652 4

Question Number : 138 Question 1d : 6154759654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T e w5 g 2
TR 31 FAA F G4 | Hefatad 7 9 78 T gA

(1) (A) 3= (R) 391 Ta1 3 3117 (R). (A) =i 781 =men 2
Q) (A) @R (R) =F1 TE F 30 (R), (A) i 7 sawen 76 2
(3 (A=A Z, o (R) Ted #

@ (A 7EE =, W@ (R) FE A
Options:
615475376491
61547537650, 2
61547537651 3
61547527652 4

Question Number : 139 Question Id : 6154759655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. one 1s labelled as Assertion (A) and the other 13 labelled as

Reason (R):

Assertion (A):  Both uddivaan and Nauli are practised at the stage of exhaling.

Reason (R) : There 1s negative pressure in the abdomen during the vogic practices of

uddiyaan and nauli both.

In the light of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 18 false, but (R) 1s true
Options:
615475376531
61547537654 2
61547537655 3
E1547537E5E. 4

Question Number : 139 Question Id : 6154759655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 20 0 FuET § ® UF T aAfaEeE (A) T g5 H 9 (R) i w55 E

AfgweH (A) ISTM W A ST T A §E T 90 ] AT | A S
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(1)  (A) 31 (R) 341 @71 2 310 (R). (A) Fi 75t == 2|
(2)  (A) 3R (R) 3A1 D21 2 30 (R). (A) i Te1 =3 74 2
(3) (A =EI 2, Wi (R) T R

4 (A TeA 7, = (R) TR A

Options:



E1547537653. 1
61547537654, 2
61547537655, 3
61547537656, 4

Question Number : 140 Question Id : 6154759656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements. one 1s labelled as Assertion (A) and the other 1= labelled as

Reason (R) :

Assertion (A) : Lack of Avidva leads to absence of Samyog called ‘Haan'.

Reason (R) : Asmita causes Samyog. Samyog leads to the attainment of the form of

swashakti and swamishakta.

In the light of above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false, but (R) 1= true
Options:

E1547537E57. 1

61547537658 2

61547537659 3

61547537660 4

Question Number : 140 Question Id ;: 6154759656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (A 3 (R)3H1 78 & 3 (R). (A) F 78t =me=n 3
(2)  (A) #R (R) A1 = 2 31k (R). (A) i @& =amen 79 2
(3) (A=A 2, = (R) T B

4) (A 7T=a 2, T (R) TE
Options:
61547537657, 1
61547537658 2
615475276549 2
61547527660, 4

Sub-Section Number: 2
Sub-Section I1d: 615475416
Question Shuffling Allowed : Yes

Question Id : 6154759657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



Read the following paragraph carefully and answer the questions accordingly (Q.No. 91 to 95).

Yoga 1s a system of practical philosophy (Shastra) followed since time immemorial. Yoga
Darshana 1s developed from ‘Sankhya Shastra’. Sankhyva means the number and therefore.
in Sankhva shastra one can count the entities as one's awareness Increases. starting from

external things to internal ones. one can group and sort it out for the realisation.

Knowledge when applied 1t creates the richnesses, vibhutis. The absolute knowledge can
become an apphed knowledge to create richness. Therefore, if one knows the sequence of
entities and relationship of entities. 1t gives him a power to modify the entities with respect

to ones own body, mind soul and even beyoned 1t.

Yoga 1s fully based on the Sankhya Darshana, with an importance given to God. In yoga
Twenty Six (26) entities (Tatva's) accepted. In Yoga Sadhana synchronisation of these
entities are more important. which comes by realisation. All the food habits, life style, all the
voglc practices, envisage to achieve the above aim. Therefore, to harmomse the body. mind
and soul trinity. yogic practices along with food habits. life style and other things should
help. A wise man adopts these practices. in ones life and achieves better health starting from

physical level to mental level and further higher levels.

Alwavs Panchakarmendriva. Panchajnanenedriyva are related since they developed from
Buddhi. Therefore. a modification in Buddhi, transformation in Buddhi should create an
1mpact on our sensory organs and our motor organs. So, direct mental concentration. indirect
mental concentration. like Dhyana and asanas should also impact the sensory organs, motor

organs and the Panchamahabhutas which exists with us.

The food what we eat. what we select. what we gzet are all decided by the mind. Simailarly.
the assimilation and nourishment are also controlled by Buddhi and therefore. a situation
either which creates an atmosphere, for forelgn body's or malfunctioning 1s also related to
Buddhi. In a nut shell. yoga therapy 1s nothing but the application. One’s own need. It 1s
rightly told in Bhagavadgita “Uddharetdatmanatmanam” applies to voga therapy.

On the basis of this. voga therapy can be developed by giving more importance to
‘Trigunas’. Similarly, in Ayurveda. a sister branch of Indian knowledge has developed by

giving more emphasis to “Tridosha’.

Sub questions

Question Number : 141 Question Id : 6154759658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the practical philosophy with respect to the above passage :

(1) Mimansa (2) Vedanta
(3) Nyay (4) Yoga
Options:

BE1547537661. 1
B1547537662. 2
E15475376E3. 3
61547527664, 4

Question Number : 142 Question Id : 6154759659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How one can create richness?

(1) By applying technology (2) By applving knowledge
(3) By applying mund (4) By applying some otherthing
Options:

E1547537EES. 1
E15475376EE. 2
B1547537BEY. 3
61547537660, 4

Question Number : 143 Question 1d : 6154759660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What are the Trimity?

(a) Body
(b) Mind
(c) God
(d) Soul

Choose the correct one from the following :

(1) (a). (b) and (c) (2) (a).(b)and (d)
(3) (b). (¢) and (d) (4) (a). (c) and (d)
Options:

61547537669, 1
E1547537670. 2
BE1547537671. 3
B1547537672. 4

Question Number : 144 Question Id ;: 6154759661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



How many entitis (tattwas) are in yoga?

(1) 24
(2) 20
(3) 26
(4) 27
Options:

B1547537673. 1
B1547537674. 2
E1547537675. 3
E154753767E. 4

Question Number : 145 Question Id : 6154759662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the entity which can change Panchajanenadriva and Panchakarmendriva

(1) Manas
(2) Ahankar
(3) Purusha

(4) Buddhi
Options:

61547537677, 1
61547537678 2
1547537679 2
15475327820 4

Question Id : 6154759657 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id : 6154759658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
E'II?FFTI'E'JTT$HT:’IIF| ﬂﬂHH?E’DF[T{:lTEIW

-

(1)  dmmn (2) ==
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Options:

E15475376EL. 1
E15475376E2. 2
B1547537BE3. 3
61547537664, 4



Question Number : 142 Question Id : 6154759659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Fe UTFE F TAA F THAT 2 7

(1) iR % s & (2) FH F FEH
(3) THHATEMH (4) PRl 1= Tt & SFgrEm A
Options:

61547537665, 1
61547537666, 2
E1547537667. 3
E15475376EE. 4

Question Number : 143 Question Id : 6154759660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T T A E:
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(a) TR

by =

(c) T

(d) TeET

freferiaa | = @@ fames =4

(1) (a). (b) ¥ (c) (2)  (a), (b) 377 (d)

(3)  (b). (c) 311 (d) (4) (a). (o) = (d)
Options:

E1547537669. 1
E1547537670. 2
B1547537671. 3
G1547537672. 4

Question Number : 144 Question 1d : 6154759661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 24
(2) 25
(3) 26
(4) 27
Options:

615475376731
61547537674, 2
E1547537675. 3
B154753767E. 4

Question Number : 145 Question Id : 6154759662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547537677. 1
E154753767E. 2
E1547537673. 3
B1547537680. 4

Sub-Section Number: 3
Sub-Section Id: 615475417
Question Shuffling Allowed : Yes

Question Id : 6154759663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the following paragraph carefully and answer the five questions (Questions No. 96 to 100)

Yoga 1z defined as cessation of vrittl (fluctuations) of chitta. Chitta 1s made up of three
factors viz manas (mind). buddhi (intellect) and ahamkara (ego). Chitta 1s the wvehicle of
observation, attention, aims and reason. Chitta vritti are classified into five groups and each
may be afflicting or non-afflicting. These are pramana (source of right knowledge), viparvaya
(mistaken view), vikalpa (imagination), nidra (sleep) and smriti (memory). The pramanas
are of three types — Pratyaksha (direct evidence). Anumana (inference) and Agama
(Scriptural references). The correct knowledge can be attained through any of these three
sources. Viparvava 1s caused by wrong or illusorv knowledge to mistaken one thing for
another, based on the distortion of reality. Vikalpa 1s the verbal knowledge only. devoid of
any substance. Nidra 1s the state of dreamless sleep 1n which all activities of thought and
feeling comes to an end. Smrti 1s the unmodified recollection of words and experiences.
Simultaneous practice of Abhyasa (repeated practice) and Vairagva (detachment) 1s the right
way to restrain these five fluctuations of Chitta. Regular practice of yoga balances the body.
mind and soul and gquieten the fluctuations of Chitta, so they can no longer distort the true

expression of the soul. Then the soul abides in 1ts own nature to achieve Kaivalya.

Sub questions

Question Number : 146 Question Id : 6154759664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which type of Pramana is not mentioned above?

(1) Anumana (2) Yukt
(3) Agama (4) Pratyaksha
Options:

61547537681, 1
E1547537682. 2
61547527682, 3
E15475376854. 4

Question Number : 147 Question Id : 6154759665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The verbal knowledge. devoid of any substance 1= called

(1) Pramana (2) Smnt1
(3) Viparyay (4) Vikalpa
Options:

61547537685, 1
61547537686, 2
E1547537687. 3
E1547537EEE. 4



Question Number : 148 Question Id : 6154759666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 1s NOT a chattavrtti?

(1) Pramana (2) Vikalp
(3) Nidra (4) Asmita
Options:

61547537685, 1
61547537630, 2
61547537631, 3
E1547537652. 4

Question Number : 149 Question Id : 6154759667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Regular practice of yoga balances

(1) Body and mind only
(2) Mind and soul only
(3) Soul only

(4) Body., Mind and soul
Options:

154753765931
1547537694, 2
1547537695 3
1547537696 4

Question Number : 150 Question Id : 6154759668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The right way to restrain five vritti of chitta 1s

(1) Practice of Abhyasa only
(2) Practice of vairagya only
(3) Simultaneous practice of Abhyasa and Vairagya

(4) Practice of Shatkarma
Options:

1547537697, 1

61547537695 2

61547537699 2

61547537700 4



Question Id : 6154759663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

779 9. 96-100

=m i fam =it gfoal & faog & =9 | ofvaiied e e 2| f dF Fe @ 99 2, 997-999 (mind)

973 (intellect) 3R =% (ego)| fo 3aeT=, TEYHI, WET T T F 9= =1 FAw-gH F1 919 =TT

T afiha foe S 3 SR Teih e s sAiEeE 7wl 2| A 3 - TA (TErE W R aE), e

{ﬁfl??ﬂ EIESIREE Tt (FeaHT ), e sl E!{T-I {memory)| TH o= U ?ﬂ?i Z . oeEs (direct
evidence): #1991 (inference) 31T w7 (scriptural evidence), T=FF 4T Tl FH 3 dF1 @Al 4
T T = wear 2| fauEE, e stwar 9 (ilusory) IH F FEU 300 2T A, A UF 96q o T T

(wmafd) = #1539 99 99d AR  HEE O wE e | A e AW e Wi, i

AT T B T FAAT & 991 T i == i 9 F6aT 8, 916 9 S0 6 @ At R
R 4 Tl = = w34 e Faea =i Wi 2q A9 ey 9 it B A 2

Sub questions

Question Number : 146 Question Id : 6154759664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST T H FEeTiEd ° ° T TR o T R S AR R

(1)  ¥EAe 2 IfE
(3) ATH (4) TI3H
Options:

61547527681, 1
E1547537682. 2
E1547537EES. 3
E1547537684. 4

Question Number : 147 Question Id : 6154759665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= T=a TMiessh 7H w1 e 8§ 597 O30 3 Sl e 7

() A (2 =@
Options:

61547537685, 1
E154753768E6. 2
E1547537EEY. 3
E154753768E. 4

Question Number : 148 Question Id : 6154759666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) =\ (2) TaFea
3 T (4) @
Options:

E1547537689. 1
E1547537630. 2
61547537631, 3
615475376392, 4

Question Number : 149 Question 1d : 6154759667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I % fafag srem ¥ fefdtigd 9 © T 957 Sqe wed 2 B ¢
(1) e TR 3N 5=

(2)  Hae 59 HT AT

(3) A e

(4) TR, B9 AN A
Options:
615475376393 1
61547537694 2
61547537695 2
61547537696, 4

Question Number : 150 Question Id : 6154759668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1)  Faa 1=
(2)  =Ee I T HEH
(3) S AR AT T HY-EH HEE

(4)  HAHH T ASH
Options:
E15475376597. 1
61547537608, 2
61547537699, 5
61547537700 4



